B4 ERHPEREEGRR/

PNA21-01-#£f&: B1 , #HX5%: C7, fLiEFH%: 13 [X2:-2,Y2:+215] R~F: 80 cm * 90 cm , #&: 310.0 cm

b —

F5H—

et EXO0

HREHEIRE--BR: B1 (KKRERE:B1->B1)

#10 FR(E1HE-—1BB): (310+0)*18/100 55.80
| ERFHEE (L)1
[#&$=0])
#4 SMEfR- - T iR S\ER B (H5)= (80+90)*2-8*4+2*13.89=335.8 40.29
E; L+ THEEIE= Int(((310-80)/2)/10.0)+1=12
L+ THEE K= 335.812/100=40.29 M
#4 S} G fR-P R 5\ & BE (5 72)= (80+90)*2-8*4+2*13.89=335.8 26.86
[; rh SR 5B 88= Int(((310-80)/2)/15.0)+1=8
rh e K= 335.8*8/100=26.86 M
#4 SMER-RE SR E(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
E; (Int(80/10))*335.8/100=26.86 M
BHEBEHFER-KER,E | XOKE)AEEGREE)= (80-2*[{REE]14+2*[135E & 4£7]13.9)
</ [EAD! *2=199.6 .
Y(EE)ARE(HF)= (90-2* R EB14+2*[135E & £4]13.9)
*2=219.6
#4 Bi5-ETiF #4 + TiRBIE= Int(((310-80)/2)/10.0)+1=12 50.3
<7 L+ FimfER= (199.6+219.6)*12/100=50.3 M
#4 Bip-th ik #4rh RIGEIE= Int(((310-80)/2)/15.0)+1=8 335
< th ik K= (199.6+219.6)*8/100=33.5 M
#4 B-REE #ARFEHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
EEBHE:

EREAE T (4R1)18-#10 (#B2)X-#X
ARBHTH:(HE1)18-#10 (FH2)X-#X
1EHERE(1)48:10-10*18%

BT E:

FHEHR:(80+90)*2*310/10000=10.54 M2

HEEEAR RO

%:1i8:-(G5) 50*80/10000=0.40
%:2;:8:-(B3) 50*80/10000=0.40
%:358:-(G6) 50*80/10000=0.40
%:458:-(B4) 50*80/10000=0.40
L E/NET:1.60 M2

HEhREEAR MR O PR

%:1i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/NEH:0.2240 M2

RS E AR RO PR

E 1 (BRI )-:B4=25%(310-80)/10000=0.58
E RS 2(FRE)-:B3=25%(310-80)/10000=0.58
Ll E/NEH:1.15 M2
FEhRAEET:10.54-[FE R 3T $£]1.60-[#F hiR 32 $]0. 22-[#E & 32 $%]1.15=7.57 M2

RC:tH&E:

80*90*310/1000000= 2.232 M3
-------------- FHEER/DNE -

et EAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)

$ArR/NET = 0.5667 T
ARG () = 7.57 M2
Est /e =2.232 M3
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PNA21-01-t&/8: B1, #X8%: C2, (LERF5%: 2 [X1:+118,Y2:+215] R~F:80cm * 90 cm , #5: 310.0 cm
5

#10 FR(E1H-—1BB): (310+0)*18/100 55.80
| 3 5 1 (Lo (4
E=3E))
#4 SV fR- T iR SRR B ()= (80+90)*2-8*4+2*13.89=335.8 40.29
E; L THEE 2= Int(((310-80)/2)/10.0)+1=12
L+ THE#E K= 335.8%12/100=40.29 M
#4 VAS it R 5\ {5 & BE(H 72)= (80+90)*2-8*4+2*13.89=335.8 26.86
g o SRR E8= Int(((310-80)/2)/15.0)+1=8
rh e K= 335.8*8/100=26.86 M
#4 SMER-BRE SERE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBEHFER-KER,E | XOKE)AEESGRIE)= (80-2*[{REE]14+2*[135E E4£7]13.9)
</ [EAD! *2=199.6 .
Y(EE)ERE(HHBAE)= (90-2*[{R#[B14+2*[135FE & £7]13.9)
*2=219.6
#4 Bi5-ETiF #4 + TiRBE= Int(((310-80)/2)/10.0)+1=12 50.3
<7 L+ TimfER= (199.6+219.6)*12/100=50.3 M
#4 Bip-th ik #4rh RIGEIE= Int(((310-80)/2)/15.0)+1=8 335
< th ik R = (199.6+219.6)*8/100=33.5 M
#4 B-REE #ARZ EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
EEBHE:

AT H:(FE1)18-#10 (FH2)X-#X
ARBHIH:(E1)18-#10 (FH2)X-#X
1EHERE(1)48:10-10*18%

BT E:

FHEHR:(80+90)*2*310/10000=10.54 M2

HEEEAR RO

%:1;:8:-(G1) 55*80/10000=0.44
%:2;8:-(B4) 50*80/10000=0.40
%:358:-(G2) 55*80/10000=0.44
L E/NET:1.28 M2

HEMREEAR MR O BR:

%:1i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:80.00%16/10000=0.1280
LL_E/VEH:0.3040 M2

RS E AR RO PR

E 1 (MRUE)-:CS=25%(310-15)/10000=0.74
E RS 2(FRE)-:B4=25%(310-80)/10000=0.58
E R 3(MRE)-:CS=25%(310-15)/10000=0.74
Ll E/NEH:2.05 M2
FEhR AR ET:10.54-[AE R X #]1.28-[#E iR 32 1]0.30-[# 18 32 $£]2.05=6.91 M2

RCEHE:

80*90*310/1000000= 2.232 M3
-------------- FHEER/DNE -

et EAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)

$AR/INET = 0.5667 T
BRR/INEH(E) = 6.91 M2
Estt /e =2.232 M3

PNA21-01-#&[&: B1 , #15%: C7, (LB 55 14 [X2:-2,Y4:+45] R~: 80 cm * 90 cm , #4£5: 310.0 cm

#10

EH(FE1E-—B):
ERF+HER(Lg) (I
[F#=0])

(310+0)*18/100

55.80
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#4 SMER- £ T i

SV R E (B R2)= (80+90)*2-8*4+2*13.89=335.8
L+ THEE24= Int(((310-80)/2)/10.0)+1=12
L+ TiE#ER= 335.8%12/100=40.29 M

40.29

#4

5\ RE(H )= (80+90)*2-8*4+2*13.89=335.8
rh Je B 2k= Int(((310-80)/2)/15.0)+1=8
th 8 K= 335.8*8/100=26.86 M

26.86

SR E(H )= (80+90)*2-8*4+2*13.89=335.8
(Int(80/10))*335.8/100=26.86 M

26.86

XOKTF)RRE(HR4E)= (80-2*[{REB]4+2*[135 €£44]13.9)

*2=199.6

Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)

*2=219.6

#4

#4 & TR E = Int(((310-80)/2)/10.0)+1=12
LTk E= (199.6+219.6)12/100=50.3 M

50.3

#4

#4eh REEE = Int(((310-80)/2)/15.0)+1=8
R %48 5 = (199.6+219.6)*8/100=33.5 M

33.5

#4

[
R
" U

HARF EE=(199.6+219.6)"Int(80/10)/100= 33.53 M

33.5

fBEETE:

EBAEE(M1)18-#10 ($B2)X-#X
ABAEE(M81)18-#10 ($A2)X-#X
B (1)4:10-10*18%
BRIRETE:
FHERR:(80+90)*2*310/10000=10.54 M2
PR E AR MO RR:
%:158:-(G6) 50*80/10000=0.40
%:2;8:-(B5) 50*80/10000=0.40
%:358:-(G7) 50*80/10000=0.40
%:45%:-(B6) 50*80/10000=0.40
Ll E/NEH1.60 M2

FE MBS R OB
%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%5:45%:30.00*16/10000=0.0480
L E/NEF0.2240 M2

NS E AR R O PR
LA _E/NEF:0.00 M2

AR AEET:10.54-[FEHR 3 $£]1.60-[#F i 32 $]0.22-[#1 15 32 $%10.00=8.72 M2

RCEtH&E:
80*90*310/1000000= 2.232 M3

MErEt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)

$MER/INET = 0.5667 T
BAR/NEH(E) = 8.72 M2
iR /NE = 2.232 M3

PNA21-01-#£[&: B1 , ¥ X8k C35, fIEFF5E: 35 [X4:-162,Y15:+184] R~F:90 cm * 80 cm , #&: 310.0 cm

#10 FH(E1HE-—REE): (310+0)*18/100 55.80
| SR (Lg) (B
[#&#£=0])
#4 SMERR- £ T SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 40.29
@ + THEREZ= Int(((310-80)/2)/10.0)+1=12
I T K= 335.812/100=40.29 M
#4 HME - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
@ rh R 5B 28= Int(((310-80)/2)/15.0)+1=8
th R $E#E K= 335.8*8/100=26.86 M
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#4 SRR SR ()= (90+80)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(H )= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BT #4 & T 5B 2= Int(((310-80)/2)/10.0)+1=12 50.3
<2 T8 E= (219.6+199.6)*12/100=50.3 M
#4 B-rh R #4th R IHE = Int(((310-80)/2)/15.0)+1=8 33.5
<7 R 48 £ = (219.6+199.6)*8/100=33.5 M
#4 BEH-BEE HARE B E=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
FEEHE

EBAEE(H1)18-#10 (#B2)X-#X
ABAEE(M1)18-#10 ($A2)X-#X
B (1)4:10-10*18%

BhREHH:

F 1 hfR:(90+80)*2*310/10000=10.54 M2

HEEERAR MO

%:158:-(B23) 50*80/10000=0.40
%:25%:-(G38) 50*80/10000=0.40
%:35%:-(G39) 60*60/10000=0.36
LLE/NVET:1.16 M2

HERRE AR b 0 PR

%5:1i%£:30.00*16/10000=0.0480
%5:258:77.50*16/10000=0.1240
55:458:77.50*16/10000=0.1240
LLE/1NET:0.2960 M2

RSB R AR M O PR

IS 1(FRE)-:B23=25%(310-80)/10000=0.58
B2 (MK )-:CS=25*(310-15)/10000=0.74
S 3(FRIE )-:G38=25%(310-80)/10000=0.58
LL_E/NET1.89 M2
AR AEET:10.54-[FE R 3 H8]1.16-[#F hR 32 $]0. 30-[#1 5 32 $%]1.89=7.20 M2

RCEH&E:

90*80*310/1000000= 2.232 M3

Mt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)

$MER/INET = 0.5667 T
BAR/INET () = 7.20 M2
iR /NE =2.232 M3

PNA21-01-#£[&: B1 , ¥ 5F: C34, fIEFF5E: 34 [X4:-162,Y14:+45] R~F: 90 cm * 80 cm , 4 &: 310.0 cm

#10 F (5 1HR-—ARB): (310+0)*18/100 55.80
| T+ (L) (JE
[#4£=0))
#4 SMER- L T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 40.29
@ £ FHEE = Int(((310-80)/2)/10.0)+1=12
T E= 335.8412/100=40.29 M
#4 MG R-Th R SR EE ()= (90+80)*2-8*4+2*13.89=335.8 26.86
@ R FEE = Int(((310-80)/2)/15.0)+1=8
th i i8R = 335.8*8/100=26.86 M
#4 S\ R-BR SR EE ()= (90+80)*2-8*4+2*13.89=335.8 26.86
D (Int(80/10))*335.8/100=26.86 M
EmEBEHRR-KFERE X(KF)ARE(H )= (90-2*[{RFEE]14+2*[135E E4]13.9)
<7 e *2=219.6 .
Y(EE)ERE(H )= (80-2*[{FHEB14+2*[135F € 45]13.9)
*2=199.6
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#4 B5- £ Tin #4_F TR 2= Int(((310-80)/2)/10.0)+1=12 50.3
<7 F iR R= (219.6+199.6)*12/100=50.3 M
#4 BE-hRin #4rh RIH B ER= Int(((310-80)/2)/15.0)+1=8 335
<7 ik K= (219.6+199.6)*8/100=33.5 M
#4 BH-BERE HAR R EHER=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
fEEsTE:

EBAREE(H1)18-#10 (FA2)X-#X
AREHFEF:(FE1)18-#10 (FH2)X-#X
1B/ (1)40:10-10%18%
BhRET &
F48HR:(90+80)*2*310/10000=10.54 M2
PR E AR MO RR:
%5:1i8:-(B22) 50*80/10000=0.40
25:2i8:-(G35) 50*80/10000=0.40
25:3i8:-(B23) 50*80/10000=0.40
25:438:-(G36) 60*60/10000=0.36
LLE/NE1.56 M2
FERRE AR M0 B
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:3i8:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
Ll _E/VE:0.2240 M2
RS E AR M A0 R
1 (FRE)-:B23=25%(310-80)/10000=0.58
T2 (FRK )-:B22=25*(310-80)/10000=0.58
LLE/NER1.15 M2
ﬁm%rfg?m 0.54-[#F#R 3 $%]1.56-[FE I 33 $]0.22-[#F 5 XX $£]1.15=7.61 M2
RCEHE:
90*80*310/1000000= 2.232 M3

Mt EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$MER/INET = 0.5667 T
BAR/NET(E) =7.61 M2
iR /NE =2.232 M3

PNA21-01-#£f&: B1 , #£HX5%: C36, fIEFFaR: 49 [X8:+178,Y14:+45] R~t:90 cm * 80 cm, #&: 310.0 cm

#10 EH(E14-—ARE): (310+0)*20/100 62.00
| 5 B (Lo (4
[#&$£=0])
#4 SMERR- L T iR SRR B (B )= (90+80)*2-8*4+2*13.89=335.8 40.29
g L+ THEBEIE= Int(((310-80)/2)/10.0)+1=12
I FHE# K= 335.812/100=40.29 M
#4 ST R SRR EE (B )= (90+80)*2-8*4+2*13.89=335.8 26.86
g o R EEE8= Int(((310-80)/2)/15.0)+1=8
th R K= 335.88/100=26.86 M
#4 SNE-BRE s\ER B ()= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERRE-KFERE | XOKF)AREEFRIE)= (90-2 [{RERE]4+2*135E E£]13.9)
</ Em *2=219.6 .
Y(EE)ERE(HB)= (80-2*[{R#[B14+2*[135E & £4]13.9)
*2=199.6
#4 BA5-E T % #4 T iRBE= Int(((310-80)/2)/10.0)+1=12 50.3
</ E TR R= (219.6+199.6)*12/100=50.3 M
#4 BEh-p R #4th R 55 8= Int(((310-80)/2)/15.0)+1=8 33.5
<2 rhRin#E K= (219.6+199.6)*8/100=33.5 M

Page 5/53



#4 BiH-BEE HARRZ R R=(219.6+199.6)*Int(80/10)/100= 33.53 M 335

EEGIE
EBAREEE(H1)20-#10 (FA2)X-#X
AREHFEF:(FE1)20-#10 (FH2)X-#X
1BHEIRE(1)40:10-10"20%

BRRETE:

F48HR:(90+80)*2*310/10000=10.54 M2

FERE R MR IORR:
%5:1i8:-(B26) 50*80/10000=0.40
25:2i8:-(B27) 50*80/10000=0.40
25:3i8:-(G34) 50*80/10000=0.40
LL_E/NET1.20 M2

FERRE AR MR A0 B
25:138:30.00*16/10000=0.0480
25:3i8:30.00*16/10000=0.0480
25:43%:40.00*16/10000=0.0640
L _E/VET:0.1600 M2

RS E AR M A0 R
IR 1 (FRE )-:B27=25*(310-80)/10000=0.58
TR0 (FRIK )-:B26=25*(310-80)/10000=0.58
LLE/NER1.15 M2

ﬁm%rfg?m 0.54-[#F R 3 $#]1.20-[#E i 33 $%]0.16-[#F #5 32 $£]1.15=8.03 M2

RCEE:
90*80*310/1000000= 2.232 M3

SHAREt HFER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=62.000 M (62.000 M*6.390/1000= 0.3962 T)
$MAx/NET = 0.6063 T
&R/ () = 8.03 M2
BEEL /NGt =2232M3

PNA21-01-#£[&: B1 , ¥ 1X8F: C34, fIEFF5E: 31 [X3:-237,Y14:485] R~F: 90 cm * 80 cm , 4 &: 310.0 cm

#10 FHh(E1HR-—REB): (310+0)*18/100 55.80
| EH+HEE (L) (il
[#E#=0))
#4 SMER- £ T i SR EE(H )= (90+80)*2-8*4+2*13.89=335.8 43.65
g E THEEE= Int(((310-70)/2)/10.0)+1=13
+TFiERE K= 335.813/100=43.65 M
#4 SR -t 3 SV R EE(H )= (90+80)*2-8*4+2*13.89=335.8 30.22
g rh J 45 B 24= Int(((310-70)/2)/15.0)+1=9
rh R fE#E K= 335.8*9/100=30.22 M
#4 S\ fR-RE SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(70/10))*335.8/100=23.50 M
BHEHFR-KERE | XOKP)MEEF )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
<7 B[ *2=219.6 ]
Y(EE)ERE(HB)= (80-2*[{R#[B14+2*[135FE & £4]13.9)
*2=199.6
#4 B5- LT #4_F T iHE 8= Int(((310-70)/2)/10.0)+1=13 54.5
</ E TR R= (219.6+199.6)*13/100=54.5 M
#4 M- R R #4rh R IHE B= Int(((310-70)/2)/15.0)+1=9 37.7
<2 bR iERER = (219.6+199.6)*9/100=37.7 M
#4 BhHh-BERE HARF [EHER=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BERTE

EEAEH:ER1)18-#10 ($B2)X-#X
AR EH:(H1)18-#10 (FB2)X-#X
1EHEEREE(1)40:10-10718%

ERRETE:
FHHR:(90+80)*2*310/10000=10.54 M2
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BRI IO RR:
%:1;8:-(B28) 50*70/10000=0.35
%:2;8:-(G36) 60*60/10000=0.36
%:358:-(B28) 50*70/10000=0.35
LLE/NEE:1.06 M2

FERRE IR IR IR
%:13i%:30.00%16/10000=0.0480
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
LL_E/VEH:0.1600 M2

NS B RE AR IO R

EHEIE 1 (FRE)--B28=25%(310-70)/10000=0.60
E RS2 (B K )-:G36=15*(310-60)/10000=0.38
E RIS 3(FRE)--B28=25%(310-70)/10000=0.60

LLE/NEH:1.58 M2

FERRAEET:10.54-[FE R 3T H£]1.06-[#F iR 32 $]0.16-[#E 48 32 $%]1.58=7.75 M2

RC:tH&E:
90*80*310/1000000= 2.232 M3

et EAER:

#4=218.922 M (218.922 M*0.994/1000= 0.2176 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)

AfR/INET = 05742 T
BAR/NEH(E) = 7.75 M2
R /NET = 2.232 M3

PNA21-01-#&8: B1 , #E5%: C5, fIiEFF5i: 6 [X1:-82,Y6:-240] R~F: 80 cm * 90 cm , #£5: 310.0 cm

#8 ERF(E14-—HRE): (310+0)*18/100 55.80
| T+ (Lg) (B
[#&#=0])
#4 S\ RS- £ T i SR ()= (80+90)*2-8*4+2*13.89=335.8 43.65
@ L+ THE = Int(((310-60)/2)/10.0)+1=13
T K= 335.8%13/100=43.65 M
#4 SME -t R S\ B (H2)= (80+90)*2-8*4+2*13.89=335.8 30.22
@ R EEE8= Int(((310-60)/2)/15.0)+1=9
R iERER = 335.89/100=30.22 M
#4 SMERR-BRE 5\ R E(FHH2)= (80+90)*2-8*4+2*13.89=335.8 20.15
@ (Int(60/10))*335.8/100=20.15 M
BHEBEER-KFER,E XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $4]13.9)
<2 (=G *2=199.6 _
Y(EE)E K E(H )= (90-2 (R #B14+2* 135 E£4$5]13.9)
*2=219.6
#4 855 T iE #4_ T B 2= Int(((310-60)/2)/10.0)+1=13 545
</ Lt TFig#E K= (199.6+219.6)*13/100=54.5 M
#4 Bih-h k% #4rh RIFEIEL= Int(((310-60)/2)/15.0)+1=9 37.7
<7 fh R iR = (199.6+219.6)*9/100=37.7 M
#4 B5-BEE HARZ [ERE R =(199.6+219.6)*Int(60/10)/100= 25.15 M 25.1
BERTE:

LEFEE:(#R1)18-#8 (FH2)X-#X
ABHER:(H1)18-#8 (#B2)X-#X
B RS (1)1:8-8"18%

AR &
F48HR:(80+90)*2*310/10000=10.54 M2
FERRE R IR IORR:

%5:1i8:-(B8) 50*50/10000=0.25
25:2i8:-(G4) 60*60/10000=0.36
%5:3i8:-(B8a) 70*50/10000=0.35
L E/NEH0.96 M2
FERRE AR R IORR:
25:1i2:90.00*16/10000=0.1440
25:2i8:45.00*16/10000=0.0720
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% :3:%2:40.00"16/10000=0.0640

%:4i%:30.00%16/10000=0.0480

LL_E/VEH:0.3280 M2
NS B AR IO R

E RIS 1 (FRE)--B8a=25%(310-50)/10000=0.65
E RS 2(MRE)-:S1=25%(310-15)/10000=0.74
E RS 3(MRUE)-:S1=15%(310-15)/10000=0.44

LA E/NET:1.83 M2

R hRAEET:10.54- (A ER 32 £]0.96-[4: hin 32 $%]0.33- [# & 32 $%]1.83=7 .42 M2

RC:tH&E:

80*90*310/1000000= 2.232 M3
-------------- R R 0] N —
Mt ERER

#4=211 .3.73 M (211.373 M*0.994/1000= 0.2101 T)
#8=55.800 M (55.800 M*3.980/1000= 0.2221 T)

$AfR/INET = 04322 T
BAR/NEH(E) = 7.42 M2
R /NET = 2.232 M3

PNA21-01-#£f&: B1 , #X5%: C19, fIi&

iR 55 [X10:+202,Y3:-80] R~t: 90 cm * 80 cm , ¥ &: 310.0 cm

#10 ERF(E14-—HRE): (310+0)*16/100 49.60
| g4 Lo (B
[#&#=0])
#4 SV - £ T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 40.29
@ L+ THE = Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SMERR-h R SR E ()= (90+80)*2-8*4+2*13.89=335.8 26.86
@ fh R EEE8= Int(((310-80)/2)/15.0)+1=8
th R iEfER = 335.8*8/100=26.86 M
#4 SMERR-BRE SR E ()= (90+80)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEBERER-KFER,E | XOKE)REEGRIE)= (90-2*[{REB]14+2*[135E &$7]13.9)
</ (4G *2=219.6
Y(EE)AREHRE)= (80-2[REE4+2 135 E$7]13.9)
*2=199.6
#4 Bi-L T #4 £ T iHEI28= Int(((310-80)/2)/10.0)+1=12 50.3
</ Lt TFig#E K= (219.6+199.6)*12/100=50.3 M
#4 Bih-h k% #4rh RIFEIEL= Int(((310-80)/2)/15.0)+1=8 33.5
<7 fh R R = (219.6+199.6)*8/100=33.5 M
#4 B5-BRERE HARZ [ERE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
BERHE:

EBREH:HE1)16-#10 (#H2)X-#X
ABEEF:(FE1)16-#10 ($H2)X-#X
{BIEERE(1)4:10-10716%
EhRET S
F 4 hR:(90+80)*2*310/10000=10.54 M2
FERRE R IR IORR:
%5:15%:-(B13) 50*80/10000=0.40
5:2i%:-(G11) 50*80/10000=0.40
L E/MET0.80 M2
FERRE AR R IIRR:
%5:3i2:30.00%16/10000=0.0480
%5:432:40.00%*16/10000=0.0640
KL E/NVER:0.1120 M2
AR E AR R IORR:
L E/MET0.00 M2

AR hR#E EH:10.54-[4F BR 32 $£]0.80-[#F kiR 32 $£]0.11-[#E 1% 32 $£]0.00=9.63 M2

RC:tH&E:

90*80*310/1000000= 2.232 M3
-------------- HHERER /N
Mt EER:
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#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)

$ARR/INET = 05270 T

HBAR/NET(E) = 9.63 M2

SR /NET = 2.232 M3

PNA21-01-#8[&: B1 , 3% C11, fIEF5E: 26 [X3:-242,Y6:+100] R~F: 80 cm * 90 cm , #&: 310.0 cm

#10 F M (5 14R-—HEfB): (310+0)*16/100 49.60
| g (Lo (B
[#&#%=0])
#4 SV Ef5- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 40.29
g E FHEE= Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SME - R 5\ 45 K BE (%)= (80+90)*2-8*4+2*13.89=335.8 26.86
g o R EEE8= Int(((310-80)/2)/15.0)+1=8
th iR = 335.8*8/100=26.86 M
#4 SMERR-RE SV 45E K BE (5 2)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EHERR-KFR,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=199.6 )
Y(EE)RRE ()= (90-2*[{REE]14+2*[135E & §7]13.9)
*2=219.6
#4 BHh-L T #4 - T iRE = Int(((310-80)/2)/10.0)+1=12 50.3
< L TFik#E K= (199.6+219.6)*12/100=50.3 M
#4 B& 7 -th R b #4rh R iR E 8= Int(((310-80)/2)/15.0)+1=8 33.5
<7 bRk R = (199.6+219.6)*8/100=33.5 M
#4 BH-BRERE HAR B [EHEK=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
BERTE:

AT FR1)16-#10 (#H2)X-#X
ABHTH:(HE1)16-#10 ($H2)X-#X
1BHEIRE(1)40:10-10%163%
Rt E:
F48HR:(80+90)*2*310/10000=10.54 M2
RSB AE IR OB
%:138:-(G10) 50*60/10000=0.30
25:2i8:-(G20) 50*80/10000=0.40
25:3i8:-(G28) 55*80/10000=0.44
%5:438:-(B15) 50*80/10000=0.40
LLE/NET:1.54 M2
FE RGBSR R 3O PR
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:438:30.00*16/10000=0.0480
LL_E/VE:0.2240 M2
NS E AR R O PR
TR 1 (B )-:G10=25*(310-60)/10000=0.63
T 2(MRE )-:S2=25%(310-15)/10000=0.74
LL_E/NE1.36 M2
$§H@rﬁ§§+:1o.54-{m§!§¥§]1 S54-[FERR 3 HE]0.22-[#E 5 X $£]1.36=7.41 M2
RCEH&E:
80*90*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
$MER/NET = 05270 T
BAR/NET(E) = 7.41 M2
iR /NE = 2.232 M3
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PNA21-01-#2f8: B1 , #H5%: C9, fIiE F3k: 16 [X2:-222,Y6:+100] RF: 80 cm * 90 cm , #&: 310.0 cm

#10 ER(E14-—HRE): (310+0)*18/100 55.80
| 5+ 12 (Lo (R1E
E=3E))
#4 SV fR- T iR SRR B ()= (80+90)*2-8*4+2*13.89=335.8 40.29
g £ THEEIE= Int(((310-80)/2)/10.0)+1=12
L+ THE#E K= 335.8%12/100=40.29 M
#4 VAS it R 5\ {5 & BE(H 72)= (80+90)*2-8*4+2*13.89=335.8 26.86
g th R AEE 2= Int(((310-80)/2)/15.0)+1=8
fh R R R = 335.8+8/100=26.86 M
#4 SMER-BRE SERE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERE-KFER,E | XOKF)AEEFRIE)= (80-2 [{RERE]4+2*135E & £4]13.9)
< [EAD! *2=199.6 .
Y(EE)ERE(HHBAE)= (90-2*[{R#[B14+2*[135FE & £7]13.9)
*2=219.6
#4 BE5-E T % #4 + TiRBE= Int(((310-80)/2)/10.0)+1=12 50.3
<7 L+ TimfER= (199.6+219.6)*12/100=50.3 M
#4 BER-h g #Arh RIREIEL= Int(((310-80)/2)/15.0)+1=8 335
< th ik R = (199.6+219.6)*8/100=33.5 M
#4 B-REE #ARZ EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
EEBHE:

R (HR1)18-#10 (#82)X-#X
ARBTG5 (1)18-#10 ($22)X-#X
1EHERE(1)48:10-10*18%
EhRETE:
FHEHR:(80+90)*2*310/10000=10.54 M2
MR E RO
%:1;8:-(G8) 50*65/10000=0.33
%:2;:8:-(B15) 50*80/10000=0.40
%:358:-(G25) 50*80/10000=0.40
%:4i%:-(B16) 50*80/10000=0.40
LLE/NEH:1.53 M2

MR E RO RR:
%:1i£:40.00*16/10000=0.0640
%:2i%£:30.00*16/10000=0.0480
%:3i£:40.00*16/10000=0.0640
%:4i£:30.00*16/10000=0.0480
Ll E/NEH:0.2240 M2

S E R IO

EHERE:1(FE SorE ZE):=15%(262-0)/10000=0.39
E RS 2(FRE)-:B16=25%(310-80)/10000=0.58

LLE/NVET:0.97 M2

FEhRAEET:10.54-[FE R 3T #5]1.53-[#F iR 32 $]0. 22-[#1 18 32 $%]0.97=7.82 M2

RC:tH&E:

80*90*310/1000000= 2.232 M3
-------------- G R 0] 1) ——
M st EER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)

$AR/INET = 0.5667 T
ARG () = 7.82 M2
Estt /e =2.232 M3

PNA21-01-#£f&: B1 , ¥ HX5%: C4, SIiEF4%: 7 [X1:-102,Y6:+100] R~t: 80 cm * 90 cm, #£&: 310.0 cm

#10 EH(FE1E-—B):
ERF+HER(Lg) (I
[F#=0])

(310+0)*18/100

55.80
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#4 SME - £ T i SV R E (B R2)= (80+90)*2-8*4+2*13.89=335.8 40.29
L+ THEE24= Int(((310-80)/2)/10.0)+1=12

L+ TiE#ER= 335.8%12/100=40.29 M

#4 MR- rh SR M5B B (5 7)= (80+90)*2-8*4+2*13.89=335.8 26.86
th s H5E 20= Int(((310-80)/2)/15.0)+1=8

fh R fE#E K= 335.8*8/100=26.86 M

(Int(80/10))*335.8/100=26.86 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
E *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

#4 BE- L T #4 + T 5B %= Int(((310-80)/2)/10.0)+1=12 50.3

L+ FimfER= (199.6+219.6)*12/100=50.3 M

#4 BE-hRin #4rh RG] ER= Int(((310-80)/2)/15.0)+1=8 335

o Rin#E K= (199.6+219.6)*8/100=33.5 M

#4

#4 g SMERS-RE SN R FE(F )= (80+90)*2-8*4+2+13.89=335.8 26.86
BE-BEE HAREEE=(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5

EESIE
EREHEEH:HE1)18-#10 (FH2)X-#X
ABAEH:(F01)18-#10 (#82)X-#X
1BHEIREE(1)40:10-10%18%
BhRET &
F48HR:(80+90)*2*310/10000=10.54 M2
PR E AR MO RR:
%5:138:-(G4) 60*60/10000=0.36
25:2i8:-(B16) 50*80/10000=0.40
25:338:-(G21) 50*80/10000=0.40
25:4i8:-(CB16) 40*60/10000=0.24
LL_E/NET1.40 M2
FE MBS R OB
25:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
LL_E/VE:0.2240 M2
RS E AR R O B
IR (B )--G21=25*(310-80)/10000=0.58
S 2(FRE )-:B16=25%(310-80)/10000=0.58
LLE/NER1.15 M2
ﬁm%rfg?m 0.54-[#F R 3 HE]1.40-[FE IR 33 $5]0.22-[#F B XX $8]1.15=7.77 M2
RCEHE:
80*90*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$MER/INET = 0.5667 T
BAR/NEH(E) = 7.77 M2
iR /INE = 2.232 M3

PNA21-01-#8[&: B1 , 18 C17, SIEFF5E: 46 [X7:+209,Y5:-68] R~: 90 cm * 80 cm , 4£%: 310.0 cm

#8 F(E1HE-—REE): (310+0)*18/100 55.80
| FH+BE(Lg) (18
[#&#£=0])
#4 SVMERR- £ T SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 40.29
@ + THEREZ= Int(((310-80)/2)/10.0)+1=12
I FHEf K= 335.812/100=40.29 M

th e 5B = Int(((310-80)/2)/15.0)+1=8

#4 @ SME - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
P fE#E K= 335.8*8/100=26.86 M

Page 11/53



#4 SRR SR ()= (90+80)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(H )= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BT #4 & T 5B 2= Int(((310-80)/2)/10.0)+1=12 50.3
<2 T8 E= (219.6+199.6)*12/100=50.3 M
#4 B-rh R #4th R IHE = Int(((310-80)/2)/15.0)+1=8 33.5
<7 R 48 £ = (219.6+199.6)*8/100=33.5 M
#4 BEH-BEE HARE B E=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
FEEHE

EBA TS (481)18-#8 ($B2)X-#X
ABAEE:(1B1)18-#8 (M2)X-#X
B85 (1)58:8-8*18%%

BhREHH:

F 1 hfR:(90+80)*2*310/10000=10.54 M2

HEEERR MO

%:15%:-(B11) 50*80/10000=0.40
%:25%:-(G15) 50*80/10000=0.40
%:35%:-(B12) 50*80/10000=0.40
%:45%:-(G15) 50*80/10000=0.40
LLE/VET:1.60 M2

HERRE AR b 0 PR

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.2240 M2

FEHE AR RO PR:

L _E/VEF:0.00 M2
AR AEET:10.54-[FE R 3 $5]1.60-[#F hi 32 $£]0.22-[#1 15 32 $%10.00=8.72 M2

RCEH&E:

90*80*310/1000000= 2.232 M3

MArEt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=55.800 M (55.800 M*3.980/1000= 0.2221 T)

MER/INET = 04322 T
ARG (E) = 8.72 M2
iR /NE = 2.232 M3

PNA21-01-#£f8: B1 , #HX5%: C31, fiERFFa%: 30 [X3:-242,Y13:+20] R~t: 80 cm * 90 cm , #&: 310.0 cm

#10 F I 1HR-— AR B): (310+0)*22/100 68.20
| F (L) (JE
[##£=0))
#4 SMER- L T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 40.29
@ £ TFHEE = Int(((310-80)/2)/10.0)+1=12
+ FH#EE= 335.8*12/100=40.29 M
#4 SMER-Th R SR EE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ R FEE = Int(((310-80)/2)/15.0)+1=8
th i i K= 335.8*8/100=26.86 M
#4 S RS- BR SR EE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
D (Int(80/10))*335.8/100=26.86 M
EHmEBERR-KFER,E X(KF)RRE (H )= (80-2*[{RFEE]14+2*[135E E4]13.9)
<7 [EAR! *2=199.6 .
Y(EE)ERE (4= (90-2*[{FEB14+2* 135 €£40]13.9)
*2=219.6
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#4 B5- £ Tin #4 £ T i#EB= Int(((310-80)/2)/10.0)+1=12 50.3
<7 L FixiER= (199.6+219.6)*12/100=50.3 M
#4 BE-hRim #4rh RIH B ER= Int(((310-80)/2)/15.0)+1=8 335
<7 i K= (199.6+219.6)*8/100=33.5 M
#4 BH-BERE HAR R EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
fEEsTE:

LREHEH:(ME1)22-#10 (FH2)X-#X

AEMEEH:(F1)22-#10 ($H2)X-#X

HEHERREE(1)#:10-10"22%

BhREHH:

F 1 hfr:(80+90)*2*310/10000=10.54 M2

HEEERAR RO
%:15%:-(G30) 50*80/10000=0.40
%:25%:-(G33) 60*60/10000=0.36
%:35%:-(B28) 50*70/10000=0.35
%:45%:-(B17) 50*80/10000=0.40
LLE/NET:1.51 M2

HEMRE AR MR 0 PR
%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.2240 M2

RSB R AR MR O PR
EiEE:1(MRE)-:S2=25%(310-15)/10000=0.74
E iR 2(ME)-:S3=15%(310-15)/10000=0.44
E R 3(BE)-:B28=25%(310-70)/10000=0.60
LLE/NVET:1.78 M2

AR FEET:10.54-[FE R 3T ]1.51-[FE hR 32 $£]0.22-[#E 1B 32 $%]1.78=7.03 M2

RCEH&E:
80*90*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=68.200 M (68.200 M*6.390/1000= 0.4358 T)
$MER/INET = 0.6459 T
BAR/INET(E) = 7.03 M2
iR /NET = 2.232 M3

PNA21-01-#£f&: B1 , #HX5%: C33, fiERFFak: 33 [X4:-215,Y13:+25] R~t: 90 cm * 185 cm, #&: 310.0 cm

#10 ER(E14-—HRE): (310+0)*28/100 86.80
| 5+ (Lo (12
[#&$£=0])
#10 EAR(FE24-—HRE): (310+0)*4/100 12.40
| FHH+BE(Lg) (18
[#&#£=0])
#4 SR RS- L T i HMER B ()= (90+185)*2-8*4+2*13.89=545.8 65.49
g E T E= Int(((310-80)/2)/10.0)+1=12
L+ THEER= 545.812/100=65.49 M
#4 SMERR-P R HMER B (B )= (90+185)*2-8*4+2*13.89=545.8 43.66
g o R EEE8= Int(((310-80)/2)/15.0)+1=8
R fERER = 545.8+8/100=43.66 M
#4 S\ ERR- R HMER B ()= (90+185)*2-8*4+2*13.89=545.8 43.66
g (Int(80/10))*545.8/100=43.66 M
BHBHER-KTERE | XOKF)QREFRAL)= (90-2*[{REB4+2*[1355 & £]13.9)
<7 (1G] *4=439.1 7
Y(EE)ERE(HBE)= (185-2{R#[B]4+2*[135 & £)
13.9)*2=409.6
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#4 B5- £ Tin #4 £ T i#EB= Int(((310-80)/2)/10.0)+1=12 101.8
<7 £ TiHiaR= (439.1+409.6)*12/100=101.8 M
#4 BE-hRim #4rh RIH B ER= Int(((310-80)/2)/15.0)+1=8 67.9
<7 th i K= (439.1+409.6)*8/100=67.9 M
#4 BH-BERE HAR R [EHE K =(439.1+409.6)*Int(80/10)/100= 67.89 M 67.9
fEEsTE:

EEHEHR1)18-#10 (#B2)X-#X
ABREH:(HE1)32-#10 ($B2)X-#X
HE2R55(1)#8:10-10718%
TEREFRE(2)M:10-T*14%
BAREHE:
FHHR:(90+185)*2*310/10000=17.05 M2
HARE AR MO
%:1i2:-(G43) 50*80/10000=0.40
%:2i%:-(G32) 50*80/10000=0.40
%:3i2:-(B22) 50*80/10000=0.40
%:4i%2:-(G33) 60*60/10000=0.36
KL E/NET:1.56 M2
FERRE AR R A0 R
%:1i£:135.00*16/10000=0.2160
%5:2i£:40.00*16/10000=0.0640
%:3i2:135.00*16/10000=0.2160
%:4i2:40.00*16/10000=0.0640
L E/NET:0.5600 M2
FENEE AR kR A0 R
1 (K)-:B22=25%(310-80)/10000=0.58
2 (AR B )-:S3=15%(310-15)/10000=0.44
3 (AR B )-:S2=25%(310-15)/10000=0.74
4 (FR K )-:G43=25%(310-80)/10000=0.58
KL E/NET:2.33 M2
ﬁm%r.%g?m 7.05-[#FHR 3 $2]1.56-[4E iR 38 $%]0.56-[#E 1% 3 $£]2.33=12.60 M2
RCEH&E:
90*185*310/1000000= 5.162 M3

T EER:
#4=390.451 M (390.451 M*0.994/1000= 0.3881 T)
#10=99.200 M (99.200 M*6.390/1000= 0.6339 T)
SMAR/NET =1.0220 T
BRR/NEH () = 12.60 M2
BT /VET =5.162 M3

PNA21-01-#&/8: B1 , 5% C18, LB F55%: 47 [X7:+125,Y6:-95] R~: 90 cm * 80 cm , #£5: 310.0 cm

#10 F 5 (E 14R-— 1R B): (310+0)*16/100 49.60
| T+ E(Lg) (%
[#&4£=0))
#4 SMER- L T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 40.29
E; £ TFHEE k= Int(((310-80)/2)/10.0)+1=12
+ TR E= 335.8412/100=40.29 M
#4 MG R-Th R SR EE ()= (90+80)*2-8*4+2*13.89=335.8 26.86
E; R FEE = Int(((310-80)/2)/15.0)+1=8
th i i8R = 335.8*8/100=26.86 M
#4 S\ - BR SR EE ()= (90+80)*2-8*4+2*13.89=335.8 26.86
E; (Int(80/10))*335.8/100=26.86 M
EHmEBERR-KFERE X(KF)ARE(H )= (90-2*[{RFEE]14+2*[135E E4]13.9)
<7 [EAD! *2=219.6 .
Y(EE)ERE(H )= (80-2*[{FHEB14+2*[135F € 4$0]13.9)
*2=199.6
#4 g #4_ T B E= Int(((310-80)/2)/10.0)+1=12 50.3
</ ETFig#ERE= (219.6+199.6)*12/100=50.3 M
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#4 BH-rh i #4th R IHE = Int(((310-80)/2)/15.0)+1=8 33.5
<7 R 48 £ = (219.6+199.6)*8/100=33.5 M
#4 BE-BEE HARF EHE=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
fBEETE:

LRERTH:(HE1)16-#10 (FH2)X-#X
AEAEH:($1)16-#10 ($H2)X-#X
HEHESREE(1)#0:10-10"163

BhREHH:

F 1% hR:(90+80)*2*310/10000=10.54 M2

HEEERAR RO

%:152:-(B12) 50*80/10000=0.40
%:2i%:-(G18) 50*80/10000=0.40
%:3i%:-(CB12) 40*60/10000=0.24
%:452:-(G19) 50*80/10000=0.40
LLE/NE:1.44 M2

HEMRE AR R 0 PR:

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.2240 M2

RS E R AR M O PR

Ll _E/NEF:0.00 M2
AR AEET:10.54-[FE R 3 H]1.44-[#F hR 32 $£]0.22-[#1 45 32 $%10.00=8.88 M2

RCEH&E:

90*80*310/1000000= 2.232 M3

Mt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)

$MER/INET = 05270 T
HRR/NET () = 8.88 M2
iR /NE =2.232 M3

PNA21-01-#£f8: B1 , #HX5%: C18, B3k 53 [X8:-192,Y6:-239] R~: 90 cm * 80 cm , #&: 310.0 cm

#10 EH(E14E-—ARE): (310+0)*16/100 49.60
| ERFHEE(Lg) (18
[#&$£=0])
#4 SVEfR- £ T i SRR B ()= (90+80)*2-8*4+2*13.89=335.8 40.29
g L+ THEBIE= Int(((310-80)/2)/10.0)+1=12
I T K= 335.812/100=40.29 M
#4 SMERR-P R h\ER B (B )= (90+80)*2-8*4+2*13.89=335.8 26.86
g o SRR E8= Int(((310-80)/2)/15.0)+1=8
rh e K= 335.8*8/100=26.86 M
#4 S\ ERR- R SRR EE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBERER-KTER,E | XOKE)AEEGRIE)= (90-2*[{REE]14+2*[135E & £7]13.9)
</ e *2=219.6 .
Y(EE)EREE(HT)= (80-2*[{R#[B14+2*[135EE & £4]13.9)
*2=199.6
#4 Bi5- T g #4 T iREE= Int(((310-80)/2)/10.0)+1=12 50.3
</ E TR R= (219.6+199.6)*12/100=50.3 M
#4 BEh-pRih #4rh IR EIEE= Int(((310-80)/2)/15.0)+1=8 335
<2 rh R iERER = (219.6+199.6)*8/100=33.5 M
#4 Em-RERE HABR R [EHE £ =(219.6+199.6)*Int(80/10)/100= 33.53 M 335

BERIE

LEMEEH:(RE1)16-#10 ($H2)X-#X
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RNEBRE LR (JA1)16-#10 (#2)X-#X
B8 55(1)48:10-10*16%
RIRETE:

F 1% 4R:(90+80)*2*310/10000=10.54 M2

R EIEEMR IR
%:152:-(B12) 50*80/10000=0.40
%:2i%:-(G17) 50*65/10000=0.33
%:3i%:-(CB12) 40*60/10000=0.24
%:4;%:-(G18) 50*80/10000=0.40
LU E/NET:1.37 M2

RS AR MR R
%:152:30.00*16/10000=0.0480
%5:2i2:40.00*16/10000=0.0640
%:3i2:30.00*16/10000=0.0480
%:452:40.00*16/10000=0.0640
LLE/NEF:0.2240 M2

IS E R AR
LA E/NEF:0.00 M2

RARHEET:10.54-[FE R 31 . 37-[#E AR 32 $5%]0.22- [ 15 32 $£]0.00=8.95 M2

RCEH&E:
90*80*310/1000000= 2.232 M3

Mt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)

AR /INEE = 05270 T
BhR/IVEH(E) = 8.95 M2
R /NET = 2.232 M3

PNA21-01-#£[&: B1 , %1%k C21a, SIEFFHE: 57 [X10:-19,Y5:+115] R~: 90 cm * 60 cm , #£&: 310.0 cm

#10 FHh(E1HR-—REB): (310+0)*16/100 49.60
| EH+HEE (L) (i
[#&#%=0])
#4 SER- L T i SR EE(H )= (90+60)*2-8*4+2*13.89=295.8 23.66
g E THEEE= Int(((310-160)/2)/10.0)+1=8
TR = 295.8*8/100=23.66 M
#4 SR -3 S\ (%)= (90+60)*2-8*4+2%13.89=295.8 17.75
g rh J 5 B 24= Int(((310-160)/2)/15.0)+1=6
R fEfE K= 295.8*6/100=17.75 M
#4 S\ R-RE S\ R (B 2)= (90+60)*2-8*4+2%13.89=295.8 47.32
g (Int(160/10))*295.8/100=47.32 M
BHEHR-KERE | XOKP)REREEF )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
<7 [ElR *2=219.6 )
Y(EHE)ERE(F )= (60-2*[R#B]4+2*[135F E$4]13.9)
*4=319.1
#4 B5- LT #4_F T B 8= Int(((310-160)/2)/10.0)+1=8 431
</ ETFin#ER=(219.6+319.1)*8/100=43.1 M
#4 M- R R #4rh R IHE B= Int(((310-160)/2)/15.0)+1=6 32.3
<2 bR iEHER = (219.6+319.1)*6/100=32.3 M
#4 BhHh-BERE HARF B R=(219.6+319.1)*Int(160/10)/100= 86.19 M 86.2

BERTE
EEREHER1)16-#10 ($B2)X-#X
AR EH:(H1)16-#10 (FB2)X-#X
HEERRE(1)48:10-10M6X%

EARETE:
FHHR:(90+60)*2*310/10000=9.30 M2
HARE RO

%:1i2:-(B14) 50*80/10000=0.40
%:2i%:-(G45) 80*160/10000=1.28
%:3i2:-(CB14) 40*60/10000=0.24
%:4i2:-(G17) 50*65/10000=0.33

Page 16/53



LLE/NEF:2.25 M2
FERRE IR IR IO PR
%:1i%:10.00%16/10000=0.0160
%:2i%:10.00%16/10000=0.0160
%:3i%:10.00%16/10000=0.0160
%:43i%:40.00%16/10000=0.0640
LL_E/VEH:0.1120 M2
NS B RE RR IR
LLE/VET:0.00 M2
$§H&+ﬁ§:§+:9.30-[$ﬂ?€ R1E]2.25-[#E kR XX #%]0.11-[#E 15 32 $%]0.00=6.94 M2
RC:EtH&E:
90*60*310/1000000= 1.674 M3
-------------- R R 0] N C—
At EHER:
#4=250.340 M (250.340 M*0.994/1000= 0.2488 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
$AfR/NET = 0.5658 T
BAR/NVEH(E) = 6.94 M2
R /NET = 1.674 M3

PNA21-01-#&/8: B1 , 5% C35, ii& [F5%: 44 [X6:+8,Y15:4+165] R~F:90 cm * 80 cm , 45 310.0 cm

#10 ERF(E14-—HRE): (310+0)*18/100 55.80
| T+ (Lg) (1B
[#&#=0])
#4 SMER-L T SR ()= (90+80)*2-8*4+2*13.89=335.8 40.29
B L+ THE = Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SMERR-h R SR E ()= (90+80)*2-8*4+2*13.89=335.8 26.86
B R EEE8= Int(((310-80)/2)/15.0)+1=8
th iR R = 335.8*8/100=26.86 M
#4 SNERR-BRE 5\ RE(FHF2)= (90+80)*2-8*4+2*13.89=335.8 26.86
B (Int(80/10))*335.8/100=26.86 M
BHEHR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $4]13.9)
</ ER *2=219.6
Y(EE)EKE (4= (80-2*[{R#B]14+2* 135 E4$7]13.9)
*2=199.6
#4 Bip-LTim #4_F T imEI28= Int(((310-80)/2)/10.0)+1=12 50.3
</ L TFigiE K= (219.6+199.6)*12/100=50.3 M
#4 B ih-h k% #4rh RIFEIEL= Int(((310-80)/2)/15.0)+1=8 335
<7 PR R = (219.6+199.6)*8/100=33.5 M
#4 EH-REE HARZ [ERE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
EEBHE:

EBREEH:HE1)18-#10 (#H2)X-#X

ABEER:(FE1)18-#10 ($H2)X-#X

{EIEER5(1)#8:10-10718%

BhRET S

F 4 hR:(90+80)*2*310/10000=10.54 M2

FERRE R IR IORR:
%:15%:-(B25) 50*80/10000=0.40
55:2i%:-(G37) 50*80/10000=0.40
%5:3i%:-(G38) 50*80/10000=0.40
KL E/NET1.20 M2

FERRE AR hRIORR:
5:1:2:30.00%16/10000=0.0480
%5:2i2:40.00%16/10000=0.0640
5:3:2:80.00%16/10000=0.1280
%5:432:40.00%*16/10000=0.0640
LA E/NEF:0.3040 M2

AR E AR R IORR:
BN 1 (BRE)-:G38=25%(310-80)/10000=0.58
B 2(BRE)-.G37=25%(310-80)/10000=0.58
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LLE/NET:1.15 M2
$§Hlft+fh§:§+:1 0.54-[F#E 3T $5]1.20-[4E ki 32 $£10.30-[#F 4B 3T $£]1.15=7.89 M2
RCEtE&E:
90*80*310/1000000= 2.232 M3

et EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$AER/INET = 0.5667 T
BAR/NVEH(E) = 7.89 M2
R /NET = 2.232 M3

PNA21-01-#&/8: B1 , # 5% C32, iI& F5%: 50 [X8:+178,Y15:+165] R~f: 90 cm * 80 cm , #&: 310.0 cm

#10 ERF(E14-—HRE): (310+0)*18/100 55.80
| T H+EE(Lg)(HEHE
[#&#=0])
#4 SMER-L T SR EE ()= (90+80)*2-8*4+2*13.89=335.8 40.29
@ T = Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
@ rh Je 4 2k= Int(((310-80)/2)/15.0)+1=8
R iERE R = 335.8*8/100=26.86 M
#4 SMER-RE SR E(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
B (Int(80/10))*335.8/100=26.86 M
EMBHR-KEME | XOKE)MEREFHBE)= (90-2*[{REEB]14+2*[135FE$7]13.9)
</ (=G *2=219.6 _
Y(EE)E K E(H 4= (80-2*[{R#B]14+2*[135EE E4$7]13.9)
*2=199.6
#4 Bi-L T #4 £ T ixE28= Int(((310-80)/2)/10.0)+1=12 50.3
</ L TFig#E K= (219.6+199.6)*12/100=50.3 M
#4 BE-PRim #4rh R IFEIEL= Int(((310-80)/2)/15.0)+1=8 335
</ rh R MR = (219.6+199.6)*8/100=33.5 M
#4 BH-RER HARZ [ERER=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
BERHE:

EBHEEG:ER1)18-#10 (#82)X-#X
ABEEH:(FE1)18-#10 ($H2)X-#X
BERE(1)#E:10-10*18%

ARt E:

F#EkR:(90+80)*2*310/10000=10.54 M2

AR E R
%:1i8:-(B27) 50*80/10000=0.40
%:28:-(G37) 50*80/10000=0.40
Ll E/NEH0.80 M2

B R R
%:1i%:30.00*16/10000=0.0480
:3:8:80.00*16/10000=0.1280
5:4:8:40.00*16/10000=0.0640
Ll E/NET:0.2400 M2

A E R R
IR 1 (BRE)-:S1=25%(310-15)/10000=0.74
TR 2(2 K )-:G37=25%(310-80)/10000=0.58
Ll E/NER:1.31 M2

EHJ%EEMo.54-[$$i%3‘§¢§]0.80-[#:’5#&33#&]0.24-[#2 & 32 $£]1.31=8.19 M2

RCEHE:
90*80*310/1000000= 2.232 M3

Mt EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
MR /INET = 0.5667 T
BAR/NET(E) = 8.19 M2
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RAE T /NET = 2.232 M3

PNA21-01-#£f&: B1 , ¥ X3%: C35, fiEFF5%: 42 [X6:+8,Y13:+25] R~1: 90 cm * 80 cm , #%&: 310.0 cm

#10 ER(E14E-—ARE): (310+0)*18/100 55.80
| g (Lo)
[#&#%=0])
#4 SMEf- £ T i SRR EE (5 F2)= (90+80)*2-8*4+2*13.89=335.8 40.29
g L+ THEEIE= Int(((310-80)/2)/10.0)+1=12
T K= 335.812/100=40.29 M
#4 SMER-h R S\ R EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 26.86
g rh R 28= Int(((310-80)/2)/15.0)+1=8
th i8R = 335.8*8/100=26.86 M
#4 SMERR-BRE SR EE(F72)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMEBERER-KFR,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=219.6
Y(EE)FRE ()= (80-2*[{RH#[B14+2*[135FE & £]13.9)
*2=199.6
#4 BHh-L T #4_F TR 2= Int(((310-80)/2)/10.0)+1=12 50.3
< F i RE= (219.6+199.6)*12/100=50.3 M
#4 BH5-th R #A4th R 8= Int(((310-80)/2)/15.0)+1=8 33.5
<7 th Qi K= (219.6+199.6)*8/100=33.5 M
#4 BH-RERE HARZ [ERER=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
fEESTE:

AT GR1)18-#10 (#H2)X-#X
ABHTH:(HE1)18-#10 ($H2)X-#X
1BHEIRE(1)40:10-10%18%
EhRETE:
F48HR:(90+80)*2*310/10000=10.54 M2
RSB IR OB
%:138:-(G31) 50*80/10000=0.40
25:2i8:-(B24) 50*80/10000=0.40
25:338:-(G32) 50*80/10000=0.40
LL_E/VET1.20 M2
FE MBI AR R OB
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LL_E/NET0.1760 M2
RSB R IO B
TR 1 (MK )--S2=25%(310-15)/10000=0.74
2B K )-:S2=25%(310-15)/10000=0.74
LLE/NE1.48 M2
$§H@rﬁ§§+:1o.54-{m§!§¥§]1 20-[#EhR 33 $%]0.18-[#E {5 X $£]1.48=7.69 M2
RCEHE:
90*80*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$MER/INET = 0.5667 T
AR/ () = 7.69 M2
iR /NET = 2.232 M3

PNA21-01-#&[&: B1 , s 5%: C34, LB 3R 43 [X6:+8,Y14:+45] R~:90 cm * 80 cm , 5 310.0 cm

#10 EH(EE-—RRE): (310+0)*18/100 55.80
T H+EE(Lg) (%
[#&$#=0])
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SME - £ T i SV R E (A R2)= (90+80)*2-8*4+2*13.89=335.8 40.29
L+ THEE24= Int(((310-80)/2)/10.0)+1=12
L+ TiE#ER= 335.8%12/100=40.29 M

#4

MR- rh SR M5B B (F57)= (90+80)*2-8*4+2*13.89=335.8 26.86
th s 5 2= Int(((310-80)/2)/15.0)+1=8
th ok 8 K = 335.8%8/100=26.86 M

#4

(Int(80/10))*335.8/100=26.86 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKTF)RRE(H )= (90-2*[{RE B14+2*[135 ££44]13.9)
EAE *2=219.6
Y(BE)REE (A= (80-2*[{REE]4+2*[135E & £7]13.9)
*2=199.6

B5- LT #4 & T i B 8= Int(((310-80)/2)/10.0)+1=12 50.3
£ TFig#aR= (219.6+199.6)*12/100=50.3 M

#4

BH-hRiE #4th LR E B= Int(((310-80)/2)/15.0)+1=8 33.5
Hh R iR = (219.6+199.6)*8/100=33.5 M

#4

BE-BEE HARF EME=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5

#4 g o\ A -BR SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
#4

EESIE
EREHEEH:HE1)18-#10 (FH2)X-#X
ABAEH:(F01)18-#10 (#82)X-#X
1BHEIREE(1)40:10-10%18%
BhRET &
F48HR:(90+80)*2*310/10000=10.54 M2
PR E AR MO RR:
25:1i8:-(B24) 50*80/10000=0.40
25:2i8:-(G34) 50*80/10000=0.40
25:3i8:-(B25) 50*80/10000=0.40
%5:438:-(G35) 50*80/10000=0.40
LL_E/VET1.60 M2

FE MBS R OB
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LL_E/VE:0.2240 M2

NS E AR R O PR
Ll _E/NEF:0.00 M2

$§H@rﬁ§§+:1o.54-{&?¥§¥§]1 60-[#EhR 33 $%]0.22-[#F 5 32 $£]0.00=8.72 M2

RCE&E:

90*80*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$MER/INET = 0.5667 T
BAR/NEH(E) = 8.72 M2
iR /NE = 2.232 M3

PNA21-01-#£[&: B1, #18F: C22, fIEFF5E: 8 [X1:-102,Y8:-20] R~F: 180 cm * 90 cm , & 310.0 cm

#10 EEH(E1HE-—RRE): (310+0)*30/100 93.00
| 5 B (Lo (4
[#&#£=0])
#10 EAR(FE24-—HRE): (310+0)*3/100 9.30
| 542 4 L) (42
[#&#£=0])
#4 SR E- L T i SRR B ()= (180+90)*2-8*4+2*13.89=535.8 64.29
@ L+ THEEIE= Int(((310-80)/2)/10.0)+1=12
I FHEf K= 535.812/100=64.29 M
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#4 SMER-H R SV R EE (5 72)= (180+90)*2-8*4+2*13.89=535.8 42.86
@ R FEEIE= Int(((310-80)/2)/15.0)+1=8
th R4S K= 535.8*8/100=42.86 M
#4 VAS il e SR E(F )= (180+90)*2-8*4+2*13.89=535.8 42.86
B (Int(80/10))*535.8/100=42.86 M
BHEHR-KERE | XOKF)RREGBHE)= (180-2* [REE]4+2*[135E & )
<7 EM 13.9)*2=399.6 ]
Y(EE)ARE )= (90-2 R B]4+2*[135FE & $7]13.9)
*4=439.1
#4 B - LT #4_E T B $= Int(((310-80)/2)/10.0)+1=12 100.6
</ ETFi#ER= (399.6+439.1)*12/100=100.6 M
#4 BE-PRin #4rh RIHE B ER= Int(((310-80)/2)/15.0)+1=8 67.1
</ i K= (399.6+439.1)*8/100=67.1 M
#4 BH-BERE HAR B [E 48 K =(399.6+439.1)*Int(80/10)/100= 67.09 M 67.1
fEESTE:

EEHEEHER1)16-#10 (#B2)X-#X
ABHEH:(HE1)33-#10 ($B2)X-#X
WHE2R5E(1)#8:10-10716%
B E(2)M:10-T7X
AR E:
FHHR:(180+90)*2*310/10000=16.74 M2
R EEEMR R
%:1i2:-(G21) 50*80/10000=0.40
%:2i2:-(B18) 50*80/10000=0.40
%:3i2:-(G22) 50*80/10000=0.40
%:4i2:-(CB18) 40*60/10000=0.24
KL E/NET:1.44 M2
HERRE AR MR R
%:1i2:40.00*16/10000=0.0640
%:2i£:130.00*16/10000=0.2080
%:3i2:40.00*16/10000=0.0640
%:4i£:130.00*16/10000=0.2080
L E/NET:0.5440 M2
FENEE AR kR A0 R
FE 1 (K )-:G22=25%(310-80)/10000=0.58
2 (K )-:G21=25%(310-80)/10000=0.58
KL E/NEH:1.15 M2
*Eﬁl%rﬁg%+:16.74-[$ﬂiﬂ?c?§]1 A4-[FERR3H2]0.54-[FE B R $£]1.15=13.61 M2
RCEH&E:
180%90*310/1000000= 5.022 M3

T EER:
#4=384.851 M (384.851 M*0.994/1000= 0.3825 T)
#10=102.300 M (102.300 M*6.390/1000= 0.6537 T)
SHEH/NET =1.0362 T
R/ (E) = 13.61 M2
R /NET = 5.022 M3

PNA21-01-#&/8: B1 , #X5%: C29, iI& F5: 27 [X3:-242,Y8:-20] R~f: 180 cm * 90 cm , #£5: 310.0 cm

#10 TR(BE-—1RE): (310+0)*30/100 93.00
| 3 5 1 (Lo (1
& #2-0)
#10 ERH(B24E-—1RE): (310+0)*3/100 9.30
| 3 71 4 Lg) (4
& #2-0)
#4 SN fG- T SR ()= (180+90)*2-8*4+2%13.89=535.8 64.29
D b TEEEE= Int(((310-80)/2)/10.0)+1=12
+ TiHE#E K= 535.8*12/100=64.29 M
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#4 SMER-h R SV R B (B 2)= (180+90)*2-8+4+2*13.89=535.8 42.86
@ o R EEE8= Int(((310-80)/2)/15.0)+1=8
th R iR = 535.8*8/100=42.86 M
#4 SNER-RE s\iE R B (H2)= (180+90)*2-8*4+2*13.89=535.8 42.86
B (Int(80/10))*535.8/100=42.86 M
BHEER-KTERE | XOKFE)AEE(FGRE)= (180-2*[{RERE]4+2*[135F &)
</ (=G 13.9)*2=399.6 ]
Y(EE)ERE(FBE)= (90-2* [{R#[B14+2*[135EE £ £4]13.9)
*4=439.1
#4 BH5-E T #4 + TR BIE= Int(((310-80)/2)/10.0)+1=12 100.6
<7 ETFi#ER= (399.6+439.1)*12/100=100.6 M
#4 BE-h Rk i% #4rh RIGEIBE= Int(((310-80)/2)/15.0)+1=8 67.1
<7 i K= (399.6+439.1)*8/100=67.1 M
#4 BH-BERE HAR B [E 48 K =(399.6+439.1)*Int(80/10)/100= 67.09 M 67.1
BEFTE

FREATHGR1)16-#10 (H2)X-#X
ARBA T H:(#01)33-#10 (FH2)X-#X
1B EE(1)40:10-10M6%

B E(2)M:10-T7X

RhREtH:

FHHR:(180+90)*2*310/10000=16.74 M2

FERRGE AR RO BR:

:152:-(G28) 55*80/10000=0.44
55:2i%:-(B29) 50*70/10000=0.35
%5:3i2:-(G29) 50*80/10000=0.40
%:42:-(B17) 50*80/10000=0.40
KL E/NET:1.59 M2

FERE BEAR AR O BR:

%5:1i£:40.00*16/10000=0.0640
£5:2i%:130.00*16/10000=0.2080
%5:3i£:40.00*16/10000=0.0640
%5:4i%:130.00*16/10000=0.2080
Ll E/vEt:0.5440 M2

RS E AR RO RR:

LL_E/VET:0.00 M2
WERRAEET:16.74-[FEER 3T HE]1.59-[#F iR 32 $10.54-[#E 15 38 $%]0.00=14.61 M2

RCEH&E:

180*90*310/1000000= 5.022 M3

MEET SR

#4=384.851 M (384.851 M*0.994/1000= 0.3825 T)
#10=102.300 M (102.300 M*6.390/1000= 0.6537 T)

8 A7 /NET = 1.0362 T

BRR/INET(E) = 14.61 M2

B L /ET =5.022 M3

PNA21-01-#&[E: B1 , #EH5%: C26, fIERF5R: 17 [X2:-222,Y8:-20] R~f: 180 cm * 90 cm , #£&: 310.0 cm

#10 TR(BE-—1RE): (310+0)*30/100 93.00
| 3 5 1 (Lo (M
& #2-0)
#10 TR (B24E-—1RB): (310+0)*4/100 12.40
| 3 54 4 Lg) (4
& #2-0)
#4 SN fG- T SR ()= (180+90)*2-8*4+2%13.89=535.8 64.29
D b TEEEE= Int(((310-80)/2)/10.0)+1=12
+ TiE#E K= 535.8*12/100=64.29 M
#4 S\ - R %?’EEE(%‘?}?F (180+90)*2-8*4+2%13.89=535.8 42.86
@ th s HE A B = Int((310-80)/2)/15.0)+1=8
hRfEfa K= 535.8*8/100=42.86 M
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#4 S\ ERs-BRE SR E(H )= (180+90)*2-8*4+2*13.89=535.8 42.86
@ (Int(80/10))*535.8/100=42.86 M
CHEER-KTR,E XOKF) R RE(HRAE)= (180-2*[{REEB14+2*[135E £ 4]
<7 = 13.9)*2=399.6
Y(EE)ARE )= (90-2[{REB14+2*[135EE$7]13.9)
*4=439.1
#4 - Rk #4 b TR E 2= Int(((310-80)/2)/10.0)+1=12 100.6
<2 i R= (399.6+439.1)*12/100=100.6 M
#4 B - R iR #4mh SR E 8= Int(((310-80)/2)/15.0)+1=8 67.1
<7 R H#E K = (399.6+439.1)*8/100=67.1 M
#4 Bi5-BREE HAFRH [E 8 F=(399.6+439.1)*Int(80/10)/100= 67.09 M 67.1
BRI E

AT GR1)18-#10 (#H2)X-#X
ABA T H:(401)34-#10 ($H2)X-#X
1B EE(1)40:10-10M18%

TR (2)4R:10-TH163

RhREtH

Iffﬁ#ﬁ:m80+90)*2*310/1oooo=16.74 M2
HARE AR MO

%:1i&:-(G25) 50*80/10000=0.40
55:2i&:-(B17) 50*80/10000=0.40
%5:3i&:-(G26) 50*80/10000=0.40
%5:4i&:-(B18) 50*80/10000=0.40

LA E/NET:1.60 M2
FERRE AR AR A0 BR:
%:1:2:40.00*16/10000=0.0640
&:2i2:130.00*16/10000=0.2080
%:3i2:40.00*16/10000=0.0640
%:432:130.00*16/10000=0.2080
LA E/VEt:0.5440 M2
RS E AR AR A0 B
LA _E/NET:0.00 M2

R HBET:16.74-[A 4R 32 $£]1.60-[#EhR 32 $£]0.54-[#E 5 32 $%£]0.00=14.60 M2

RCEH&E:

180*90*310/1000000= 5.022 M3

-------------- RN

MEET SR

#4=384.851 M (384.851 M*0.994/1000= 0.3825 T)
#10=105.400 M (105.400 M*6.390/1000= 0.6735 T)

$MAR/INET =1.0560 T

BRR/NEH(E) = 14.60 M2

B /et =5.022 M3

PNA21-01-#£&: B1

, FERAR: C23, fIEFAR: 9 [X1:-102,Y10:-140] R~F: 80 cm * 90 cm , & 310.0 cm

#10 ER(E14-—HRE): (310+0)*16/100 49.60
| T+ (Lg) (B
[#&#=0])
#4 HMER- L T S\ B (H2)= (80+90)*2-8*4+2*13.89=335.8 40.29
@ L+ THEEE= Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SME -t R S\ B (H2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ o R EEE8= Int(((310-80)/2)/15.0)+1=8
iR iR R = 335.8*8/100=26.86 M
#4 S ER-BRE 5\ R E(H72)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEHRR-KER,E XOKFE) R E(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
<2 BER *2=199.6
Y(EE)EKE(H )= (90-2*[{R#B14+2*[135EE E4$5]13.9)
*2=219.6
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#4 B5- £ Tin #4_F TR 2= Int(((310-80)/2)/10.0)+1=12 50.3
<7 F TR R= (199.6+219.6)*12/100=50.3 M
#4 BE-hRin #4rh RIH B ER= Int(((310-80)/2)/15.0)+1=8 335
<7 i K= (199.6+219.6)*8/100=33.5 M
#4 BH-BERE HAR R EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
fEEsTE:

EBREEE(H1)16-#10 (FA2)X-#X
AREHFEF:(FE1)16-#10 (FH2)X-#X
1BHEIRE(1)40:10-10*163%

BhRET &

F48HR:(80+90)*2*310/10000=10.54 M2

PR E AR MO RR:
%:138:-(G22) 50*80/10000=0.40
25:2i8:-(B20) 50*80/10000=0.40
25:3i8:-(G23) 50*80/10000=0.40
LL_E/NET1.20 M2

FERRE BEAR M A0 B
%5:1i8:40.00*16/10000=0.0640
25:2i8:30.00*16/10000=0.0480
25:3i8:40.00*16/10000=0.0640
25:43%:80.00*16/10000=0.1280
LL_E/VE:0.3040 M2

RS E AR M0 RR:
TR 1 (BRE )--G22=25*(310-80)/10000=0.58
B 2(FR K )-:G23=25*(310-80)/10000=0.58
LLE/NER1.15 M2

ﬁm%rfg?m 0.54-[#F#R 3 $#]1.20-[#E ki 33 $]0.30-[#F #% 32 $£]1.15=7.89 M2

RCEHE:
80*90*310/1000000= 2.232 M3

At EER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
$MER/INET = 05270 T
ARG () = 7.89 M2
iR /INE = 2.232 M3

PNA21-01-#£f8: B1 , #HX5%: C30, B FFak: 28 [X3:-242,Y10:-140] R~F: 80 cm * 90 cm , #£&: 310.0 cm

#8 ER(E14-—ARE): (310+0)*22/100 68.20
| 5+ (L) (B2
[#E#=0))
#4 SVEfR- L T i SRR EE (A )= (80+90)*2-8*4+2*13.89=335.8 40.29
g L+ THEBIE= Int(((310-80)/2)/10.0)+1=12
I FHE#E K= 335.812/100=40.29 M
#4 ST R SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 26.86
g o SRR E8= Int(((310-80)/2)/15.0)+1=8
th R iR = 335.88/100=26.86 M
#4 SNE-BRE SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERRE-KFERE | XOKF)AREEFRIE)= (80-2 [{RERE]4+2*135E E£]13.9)
<7 (1G] *2=199.6 7
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135 £ £4]13.9)
*2=219.6
#4 BA5-E T % #4 T imEE= Int(((310-80)/2)/10.0)+1=12 50.3
</ ETiR#ER= (199.6+219.6)*12/100=50.3 M
#4 BE-pRin #4Th R 55 8= Int(((310-80)/2)/15.0)+1=8 335
<2 rhRimiE K= (199.6+219.6)*8/100=33.5 M
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#4 BiH-BEE HARRZ R R=(199.6+219.6)*Int(80/10)/100= 33.53 M 335

BEEIE
EBA TS (481)22-#8 ($B2)X-#X
AREHFER:(HE1)22-#8 (FH2)X-#X
EHERE(1)%8:8-8"22%
BEhRETE:
F48HR:(80+90)*2*310/10000=10.54 M2
HRR SRR
%5:138:-(G29) 50*80/10000=0.40
25:2i8:-(B30) 50*70/10000=0.35
25:338:-(G30) 50*80/10000=0.40
%5:438:-(B19) 50*80/10000=0.40
Ll E/NEF1.55 M2

FERRE 4SRRI RR:
%£:152:40.00*16/10000=0.0640
2£:252:30.00*16/10000=0.0480
2£:352:40.00*16/10000=0.0640
%£:452:30.00*16/10000=0.0480
LLE/INET:0.2240 M2

FEEE S RO R
Ll E/NEF0.00 M2

ﬁﬁl%rﬁgﬁno.sm[m%wgn 55-[FE iR 32 $£]0.22-[4E 15 35 $£]0.00=8.77 M2

RCEtHE:

80*90*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=68.200 M (68.200 M*3.980/1000= 0.2714 T)
$MER/NET =04815T
ARG () = 8.77 M2
iR /NET = 2.232 M3

PNA21-01-#£f&: B1 , #H5%: C27, fiERFFaR: 18 [X2:-222,Y10:-140] R~F: 80 cm * 90 cm , #£&: 310.0 cm

#10 FHh(E1HR-—REB): (310+0)*20/100 62.00
| EH+HEE (L) (il
[#E#=0))
#4 SMER- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 40.29
g T E= Int(((310-80)/2)/10.0)+1=12
+ TiEfER= 335.812/100=40.29 M
#4 SR -t 3 SR EE (B )= (80+90)*2-8*4+2*13.89=335.8 26.86
g rh Je 45 B 24= Int(((310-80)/2)/15.0)+1=8
rh R §E#E K= 335.8*8/100=26.86 M
#4 S\ fR-RE SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBEHR-KERE | XOKP)AEEF )= (80-2*[{RERE]4+2*[135E E4$7]13.9)
<7 B[ *2=199.6 ]
Y(EE)ERE(HTB)= (90-2*[{R#[B14+2*[135EE & £]13.9)
*2=219.6
#4 B5- LT #4_F T iHE 8= Int(((310-80)/2)/10.0)+1=12 50.3
</ ETFin#ER= (199.6+219.6)*12/100=50.3 M
#4 M- R R #4rh R 35 B= Int(((310-80)/2)/15.0)+1=8 33.5
<2 rh R iERER = (199.6+219.6)*8/100=33.5 M
#4 BhHh-BERE HARF [EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5
BERTE

EERESH:ER1)20-#10 ($B2)X-#X
AR EH:(H1)20-410 (FB2)X-#X
1BHEEREE(1)40:10-10720%

ERRETE:
FHKR:(80+90)*2*310/10000=10.54 M2
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BRI IO RR:
%:158:-(G26) 50*80/10000=0.40
%:2;58:-(B19) 50*80/10000=0.40
%:358:-(G27) 50*80/10000=0.40
%:458:-(B20) 50*80/10000=0.40
LLE/VEE:1.60 M2

FERRE IR IR IR
%:13i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/NEH:0.2240 M2

NS B AR IO
LLE/vET:0.00 M2

R hR#EET:10.54- (A ER 3T H]1.60-[4: hin 32 $%]0.22- [#E 1% 32 $%£]0.00=8.72 M2

RC:tH&E:

80*90*310/1000000= 2.232 M3
-------------- R R 0] N —
Mt ERER

#4=211 .3.73 M (211.373 M*0.994/1000= 0.2101 T)
#10=62.000 M (62.000 M*6.390/1000= 0.3962 T)

$ArR/NET = 0.6063 T
BAR/NVEH(E) = 8.72 M2
R /NET = 2.232 M3

PNA21-01-#£f&: B1 , #X5%: C23, fiIi&

F5%: 10 [X1:-102,Y11:+190] R~F: 80 cm * 90 cm , 4 5: 310.0 cm

#10 ERF(E14-—HRE): (310+0)*16/100 49.60
| T+ (Lg) (1B
[#&#=0])
#4 S\ RS- £ T i SR ()= (80+90)*2-8*4+2*13.89=335.8 40.29
@ L+ THE = Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SMERR-h R SR E(HH2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ R EE 2= Int(((310-80)/2)/15.0)+1=8
iR iERER = 335.8*8/100=26.86 M
#4 SMERR-BRE 5\ R E(FHH2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEHR-KER,E XOKFE)ERE(HHAE)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B[ *2=199.6 .
Y(EE)EKE (4= (90-2* (R #B14+2*[135EE E£4$5]13.9)
*2=219.6
#4 Bip-LTim #4 £ T iHEI28= Int(((310-80)/2)/10.0)+1=12 50.3
</ Lt TFig#E K= (199.6+219.6)*12/100=50.3 M
#4 Bih-h k% #4rh R IFEIEL= Int(((310-80)/2)/15.0)+1=8 335
<7 fh R iR = (199.6+219.6)*8/100=33.5 M
#4 B5-BRERE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BERTE:

ERBETH:HR1)16-#10 (FH2)X-#X

ABEER:(FE1)16-#10 ($H2)X-#X

RS (1)48:10-10"16%

AR &

F 4 hk:(80+90)*2*310/10000=10.54 M2

FEARE AR MO RR:
%:15%:-(G23) 50*80/10000=0.40
%5:2i%:-(B20) 50*80/10000=0.40
%5:3i%:-(G23) 50*80/10000=0.40
L E/NET:1.20 M2

FERRE AR M 0 B
%:1i8:40.00*16/10000=0.0640
:2%:30.00*16/10000=0.0480
%:3i8:40.00*16/10000=0.0640
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%:45%:80.00"16/10000=0.1280
Ll E/VEH:0.3040 M2
SRR
E RS 1 (MRE)-:S1=15%(310-15)/10000=0.44
E RS2 (B K )-:G23=25%(310-80)/10000=0.58
E RS 3(FRE )-:G23=25%(310-80)/10000=0.58
LA E/NET:1.59 M2
$§HJ§+.%§:E+:1 0.54-[#E R 3 ##]1.20-[#E ki 32 $]0.30-[#: 5 32 $]1.59=7 .44 M2
RCEH&E:
80%90%310/1000000= 2.232 M3

At EHR:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
$AfR/INET = 05270 T
BAR/NEH(E) = 7.44 M2
R /NET = 2.232 M3

PNA21-01-#&[&: B1, #f5%: C24, LB F5%: 11 [X1:-102,Y13:+20] R~: 80 cm * 90 cm , #£5: 310.0 cm

#10 ERF(E14-—HRE): (310+0)*16/100 49.60
| T H -+ (Lg)(HEHE
[#&#=0])
#4 SMER-L T SR ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ L+ THE = Int(((310-160)/2)/10.0)+1=8
T K= 335.8*8/100=26.86 M
#4 SMERR-h R S\ B (H4)= (80+90)*2-8*4+2*13.89=335.8 20.15
@ rh R EE 2= Int(((310-160)/2)/15.0)+1=6
th R iERE R = 335.8*6/100=20.15 M
#4 SMER-RE SR E ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ (Int(160/10))*335.8/100=53.72 M
BHEFER-KTERE | XOKFE)AEE(HGRIE)= (80-2*[{RERB]4+2*[135E E4$7]13.9)
</ (=G *2=199.6
Y(EE)ERE(FBAE)= (90-2* [{R#[B14+2*[135FE £ £4]13.9)
*2=219.6
#4 BH5-E T #4_F TR E= Int(((310-160)/2)/10.0)+1=8 335
</ L+ TFigiE K= (199.6+219.6)*8/100=33.5 M
#4 BE-PRim #4rh RIFEIEL= Int(((310-160)/2)/15.0)+1=6 25.1
<7 fh R iR = (199.6+219.6)*6/100=25.1 M
#4 B5-BREE HARZ [EHE K =(199.6+219.6)*Int(160/10)/100= 67.06 M 67.1
BERTE:

ERBREEH:HE1)16-#10 (#H2)X-#X

ABEEF:(HE1)16-#10 ($H2)X-#X

{EIEERE(1)#:10-10716%

EhRET S

F 4 hk:(80+90)*2*310/10000=10.54 M2

FERRE R IR IORR:
%:13%:-(G23) 50*80/10000=0.40
%5:2i%:-(B20) 50*80/10000=0.40
%5:3i%:-(G24) 80*160/10000=1.28
L E/MET2.08 M2

FERRE AR R IIRR:
%5:1i2:40.00*16/10000=0.0640
%5:2i2:30.00%16/10000=0.0480
%5:3i2:10.00%*16/10000=0.0160
5:432:80.00%*16/10000=0.1280
LA E/NET:0.2560 M2

AR E AR RO RR:
BN 1 (MR E)-:-FS8=25*(310-40)/10000=0.68
B 2(RE)-:G23=25%(310-80)/10000=0.58
BN 3(hE)-:S1=30%(310-15)/10000=0.89
L EINET:2.14 M2
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*ﬁﬁ%ﬁgﬁ‘m0.54-[&1??&?%]2.08-[*35#&3@*?%]0.26-[*1 =X 1%]2.14=6.07 M2
RCEH&E:
80*90*310/1000000= 2.232 M3

et EHER:
#4=226.472 M (226.472 M*0.994/1000= 0.2251 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
$AfR/INET =05421 T
BAR/NVEH(E) = 6.07 M2
R /NET = 2.232 M3

PNA21-01-#&/8: B1 , 5% C30, fiiE F5%: 29 [X3:-242,Y11:+190] R~: 80 cm * 90 cm , #£5: 310.0 cm

#8 ERF(E14-—HRE): (310+0)*22/100 68.20
| T+ (Lg) (1B
[#&#=0])
#4 5V - £ T I SR ()= (80+90)*2-8*4+2*13.89=335.8 40.29
@ T H= Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SMERR-h R SR E ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ rh Je B 2k= Int(((310-80)/2)/15.0)+1=8
R fEfE R = 335.8*8/100=26.86 M
#4 SMERR-BRE 5\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEBEER-KFER,E XOKFE)ERE(HHAE)= (80-2*[{R#B]4+2*[135E & $7]13.9)
</ B *2=199.6 .
Y(EE)E K E(H )= (90-2 (R #B14+2*[135EE E4$7]13.9)
*2=219.6
#4 Bip-LTim #4_F T ixE28= Int(((310-80)/2)/10.0)+1=12 50.3
</ L TFig#E K= (199.6+219.6)*12/100=50.3 M
#4 Bih-h k% #4rh R IR BIEL= Int(((310-80)/2)/15.0)+1=8 335
</ rh R iR = (199.6+219.6)*8/100=33.5 M
#4 B5-BRRE HARZ [EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BESTE:

EEREES:(41)22-#8 ($2)X-#X
AT (FR1)22-#8 (FH2)X-#X
BERE(1)#E:8-8*22%
ARt E:
F#EkR:(80+90)*2*310/10000=10.54 M2
AR E MR
%:1i8:-(G30) 50*80/10000=0.40
%:2i8:-(B30) 50*70/10000=0.35
%:3i8:-(G30) 50*80/10000=0.40
%:43%:-(B19) 50*80/10000=0.40
Ll EsNEH1.55 M2

RS B AR R
%:1i%:40.00*16/10000=0.0640
%5:2i%:30.00*16/10000=0.0480
%:3i%:40.00*16/10000=0.0640
:4:8:30.00*16/10000=0.0480
Ll EsNEH0.2240 M2

AR E RO
Ll EsNEH0.00 M2

*EH%%E‘I‘A 0.54-[FE#R23Z$%]1.55-[4E kiR 32 $£]0.22-[#1 42 32 $%]0.00=8.77 M2

RCEHE:
80*90%310/1000000= 2.232 M3

Mt EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=68.200 M (68.200 M*3.980/1000= 0.2714 T)
$MRR/NET =0.4815T
BRR/NET(E) = 8.77 M2
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RAE T /NET = 2.232 M3

PNA21-01-#8/8: B1, #1885 C27, {uiB FFaE: 19 [X2:-222,Y11:+190] R~F: 80 cm * 90 cm , #¥&: 310.0 cm

#10 F (5 14R-—HEfB): (310+0)*20/100 62.00
| g (Lo)
[#&#%=0])
#4 SMEf- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 40.29
g T = Int(((310-80)/2)/10.0)+1=12
T K= 335.812/100=40.29 M
#4 SMER-h R SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 26.86
g rh R 28= Int(((310-80)/2)/15.0)+1=8
th i8R = 335.8*8/100=26.86 M
#4 SMERR-BRE SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMEBERER-KFR,E | XOKFE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 )
Y(EE)FRE ()= (90-2*[{R#[B14+2*[135EE & £4]13.9)
*2=219.6
#4 BHh-L T #4_F TR 2= Int(((310-80)/2)/10.0)+1=12 50.3
< F T R= (199.6+219.6)*12/100=50.3 M
#4 B& 7 -th R b #4rh RIF B EL= Int(((310-80)/2)/15.0)+1=8 335
<7 th i K= (199.6+219.6)8/100=33.5 M
#4 BH-RERE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
fEESTE:

EBAEE($81)20-#10 ($B2)X-#X
ABAEE:(181)20-#10 ($A2)X-#X
B R (1)4:10-10*20%

EhRETE:

F12}k:(80+90)*2*310/10000=10.54 M2

HERGE AR AR ORR:

%:158:-(G27) 50*80/10000=0.40
%:25%:-(B19) 50*80/10000=0.40
%:35%:-(G27) 50*80/10000=0.40
%:45%:-(B20) 50*80/10000=0.40
LLE/VET:1.60 M2

FERRE BEAR AR O BR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LL_E/VET:0.2240 M2

FEHE AR RO FR:

1 (BRE)-:S1=15%(310-15)/10000=0.44
L E/NEF0.44 M2
AR AEET:10.54-[FE R 3 $5]1.60-[#F hR 32 $]0.22-[#1 5 32 $%10.44=8.27 M2

RCEtH&E:

80*90*310/1000000= 2.232 M3

MAnEt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=62.000 M (62.000 M*6.390/1000= 0.3962 T)

SR /NG = 0.6063 T

ARG (E) = 8.27 M2
iR /NE = 2.232 M3

PNA21-01-#£f8: B1 , #HX5%: C28, & FFak: 20 [X2:-222,Y13:+20] R~t: 80 cm * 90 cm , #&: 310.0 cm

#8

EH(E1E-—RE):
EE (L) (1
[##E=0])

(310+0)*20/100

62.00
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#4

SMER- £ T i

SV R E (B )= (80+90)*2-8*4+2*13.89=335.8
L+ THEE24= Int(((310-120)/2)/10.0)+1=10
L+ TiE#E K= 335.8%10/100=33.58 M

33.58

#4

5\ RE(H )= (80+90)*2-8*4+2*13.89=335.8
e 28= Int(((310-120)/2)/15.0)+1=7
iR R = 335.8*7/100=23.50 M

23.50

SR E(H )= (80+90)*2-8*4+2*13.89=335.8
(Int(120/10))*335.8/100=40.29 M

40.29

XOKTF)RRE(HR4E)= (80-2*[{REB]4+2*[135 €£44]13.9)
*2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

#4

#4 T 5B %= Int(((310-120)/2)/10.0)+1=10
LTk E= (199.6+219.6)*10/100=41.9 M

41.9

#4

#4th REEE = Int(((310-120)/2)/15.0)+1=7
th R 48 5 = (199.6+219.6)*7/100=29.3 M

29.3

#4

[
R
" U

HAREEE=(199.6+219.6)*Int(120/10)/100= 50.29 M

50.3

falsRa®E:

EBHER:(11)20-48 (#B2)X-#X
ABHER:(H01)20-4#8 (#A2)X-#X
BIEIRE(1)#0:8-8*20%

BhREHE:

F 1 hfz:(80+90)*2*310/10000=10.54 M2

HEEERAR MO

%:158:-(G27) 50*80/10000=0.40
%:25%:-(B17) 50*80/10000=0.40
%5:35%:-(G40) 60*120/10000=0.72
%:45%:-(B20) 50*80/10000=0.40
LLE/NET:1.92 M2

FERE AR AR O BR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:30.00*16/10000=0.0480
%:45%:30.00*16/10000=0.0480
LL_E/VET:0.2080 M2

FEHEE AR RO RR:

B 1(FRE)-:G40=25*(310-120)/10000=0.48
IR 2 (BRIE )-:G27=25*(310-80)/10000=0.58
B3 (MK )-:F S8=25*(310-40)/10000=0.68
LLE/NER1.73 M2
AR AEET:10.54-[FE R 3 HE]1.92-[#F hR 32 $]0. 21 -[#E 5 32 $%]1.73=6.69 M2

RCEH&E:

80*90*310/1000000= 2.232 M3

MAnEt HAER:

#4=218.922 M (218.922 M*0.994/1000= 0.2176 T)
#8=62.000 M (62.000 M*3.980/1000= 0.2468 T)

MER/INET = 04644 T
BAR/NVET(E) = 6.69 M2
iR /NET = 2.232 M3

PNA21-01-#£f&: B1 , #HX5%: C32, fiERFFak: 32 [X3:-237,Y15:+203] R~: 90 cm * 80 cm, #&: 310.0 cm

U

#10 ERH(BEE-—RE): (310+0)*18/100 55.80
| 3 (Lo (4
& #2-0)
N iEfR- L T in %?ﬁﬁg(ﬁﬁ?): (90+80)*2-8*4+2%13.89=335.8 43.65

L T B = Int((310-70)/2)/10.0)+1=13
L T 5= 335.813/100=43.65 M

Page 30/53



#4 SMER-H R SR EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 30.22
@ rh R 28= Int(((310-70)/2)/15.0)+1=9
th R #E 8 K= 335.8*9/100=30.22 M
#4 VAS il e sMERE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135EF & £4]13.9)
<7 EM *2=219.6 ]
Y(EE)ARE )= (80-2 R EB]4+2*[135F & $7]13.9)
*2=199.6
#4 B - LT #4_E T B $= Int(((310-70)/2)/10.0)+1=13 54.5
</ Tk R= (219.6+199.6)*13/100=54.5 M
#4 BE-PRin #4rh RIH B ER= Int(((310-70)/2)/15.0)+1=9 37.7
</ rhRiG#E K= (219.6+199.6)*9/100=37.7 M
#4 BH-BERE #ARZ B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
fEESTE:

ERBHEEH:HR1)18-#10 (FH2)X-#X
ABAEH:(F01)18-#10 ($82)X-#X
1BHEIREE(1)40:10-10%18%%
BhRET &
F48HR:(90+80)*2*310/10000=10.54 M2
PR E AR MO RR:
25:1i8:-(B28) 50*70/10000=0.35
2:2i8:-(G39) 60*60/10000=0.36
L E/NEH0.71 M2
FERRE BEAR MR 0 B
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
LU E/NEF0.1120 M2
AN E AR R O B
IR (FRE )-:B28=25*(310-70)/10000=0.60
B2 (MK )-:CS=25*(310-15)/10000=0.74
LLE/NE:1.34 M2
ﬁm%rﬁgﬁn 0.54-[#F 3 $£10.71-[AE AR 3T $£]0.11-[#EHE 32 $£]1.34=8.38 M2
RCEE:
90*80*310/1000000= 2.232 M3

Mt EHER:
#4=218.922 M (218.922 M*0.994/1000= 0.2176 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
MER/INET = 05742 T
HRR/INET () = 8.38 M2
iREEE/NE =2.232 M3

PNA21-01-#£[&: B1 , 15k C14, fIEF5E: 40 [X5:4+26,Y5:+76] R~F: 90 cm * 80 cm , 4£5: 310.0 cm

#8 FER(E1HE-—REB): (310+0)*20/100 62.00
| 5 BB (Lo (B
[#&#£=0])
#4 SMERR-L T i SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 40.29
g L+ THEEIE= Int(((310-80)/2)/10.0)+1=12
I FHEfE K= 335.812/100=40.29 M
#4 SV - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g th AR 2= Int(((310-80)/2)/15.0)+1=8
rh R ifE#E K= 335.8*8/100=26.86 M
#4 SME - HMERE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BT #4 & T 85 B 2= Int(((310-80)/2)/10.0)+1=12 50.3
<2 T8 E= (219.6+199.6)*12/100=50.3 M
#4 B-rh i #4th R IHE = Int(((310-80)/2)/15.0)+1=8 33.5
<7 R 48 £ = (219.6+199.6)*8/100=33.5 M
#4 BE-BEE HAREEE=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
FEEHE

EBA TS (481)20-#8 ($B2)X-#X
ABA L (401)20-#8 ($B2)X-#X
B85 (1)50:8-8*20%

BhREHE:

F 1 hfR:(90+80)*2*310/10000=10.54 M2

HEEERAR MO

%:15%:-(B9) 50*80/10000=0.40
%:25%:-(G15) 50*80/10000=0.40
%:352:-(B10) 50*80/10000=0.40
%:45%:-(G16) 50*80/10000=0.40
LLE/VET:1.60 M2

HEMRE AR MR 0 PR

%:15%:30.00*16/10000=0.0480
%:25%:40.00*16/10000=0.0640
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.2240 M2

RSB R AR M O PR:

L _E/VEF:0.00 M2
AR AEET:10.54-[FE R 3 $5]1.60-[#F hi 32 $£]0.22-[#1 5 32 $%10.00=8.72 M2

RCEH&E:

90*80*310/1000000= 2.232 M3

Mt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=62.000 M (62.000 M*3.980/1000= 0.2468 T)

MER/INET = 04569 T

ARG (E) = 8.72 M2
iR /NET = 2.232 M3

PNA21-01-#£[&: B1 , ¥ 1%%: C3, fiiiEFHE: 4 [X1:+138,Y6:-240] R~: 80 cm * 50 cm , #£&: 310.0 cm

#10 ER(E14-—ARE): (310+0)*12/100 37.20
| ERFHEE(Lg)(1EE
[#&$£=0])
#4 SVEfR- - T i h\E R EE ()= (80+50)*2-8*4+2*13.89=255.8 30.69
g ETFHEBE= Int(((310-75)/2)/10.0)+1=12
L+ THEER= 255.812/100=30.69 M
#4 SMERR-P R h\ER B ()= (80+50)*2-8*4+2*13.89=255.8 20.46
g o R EEEE= Int(((310-75)/2)/15.0)+1=8
PR fERER = 255.8+8/100=20.46 M
#4 S\ ERR- R SRR EE(H )= (80+50)*2-8*4+2*13.89=255.8 17.90
g (Int(75/10))*255.8/100=17.90 M
BHBEHR-KERE | XOKFE)RRES )= (80-2 [{R#E]4+2*[135FE #4£1]13.9)
</ [EAD! *2=199.6 .
Y(EE)EREE(HBE)= (50-2*[{R#[B14+2*[135EE £ £7]13.9)
*2=139.6
#4 BA5-E T % #4 - T iRBE= Int(((310-75)/2)/10.0)+1=12 40.7
</ ETin#E K= (199.6+139.6)*12/100=40.7 M

Page 32/53



#4 RE5-rh i #Ath R R= Int(((310-75)/2)/15.0)+1=8 27.1
<7 R 48 £ = (199.6+139.6)*8/100=27.1 M
#4 BE-BEE HARF EH 5 =(199.6+139.6)*Int(75/10)/100= 23.74 M 23.7
fBEETE:

EBREEE(H1)12-#10 (FB2)X-#X
AREFEF:(E1)12-#10 (FH2)X-#X
1BHEIRE(1)80:10-10%12%
BhRET &
E48HR:(80+50)*2*310/10000=8.06 M2
PR E AR MO RR:
%5:138:-(G3) 50*75/10000=0.38
25:2i8:-(B8a) 70*50/10000=0.35
LL_E/NET:0.73 M2
FERRE AR M A0 B
25:2i%:30.00*16/10000=0.0480
25:3i8:50.00*16/10000=0.0800
Ll _E/VE:0.1280 M2
RS E AR M0 R
1 (BRI )-:G3=25%(310-75)/10000=0.59
S 2(FRE )-:B8a=25%(310-50)/10000=0.65
LLE/NER1.24 M2
ﬁm%rﬁgﬁzs.oe-[#ﬂ;&%]o.73-[*1#&3??&]0.13-[*15%&?&]1 24=5.97 M2
RCEtH&E:
80*50*310/1000000= 1.240 M3

At EER:
#4=160.624 M (160.624 M*0.994/1000= 0.1597 T)
#10=37.200 M (37.200 M*6.390/1000= 0.2377 T)
$MER/INET =0.3974 T
ARG () = 5.97 M2
iR /NET = 1.240 M3

PNA21-01-#2[&: B1 , $E5%: C15, fIEF3R: 41 [X5:-57,Y6:+49] R~F: 90 cm * 80 cm , 4£5: 310.0 cm

#10 ER(E14E-—ARE): (310+0)*16/100 49.60
| 5+ 1 (L) (B2
[#E#=0))
#4 SVEfR- L T iR SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 40.29
g L+ THEBIE= Int(((310-80)/2)/10.0)+1=12
I T K= 335.812/100=40.29 M
#4 ST R SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 26.86
g o SRR E8= Int(((310-80)/2)/15.0)+1=8
th R = 335.88/100=26.86 M
#4 SNER-BRE SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERRE-KFER,E | XOKF)AEEFRIE)= (90-2*[{RERE]4+2*135E E£]13.9)
<7 (1G] *2=219.6 7
Y(EE)EREE(HTBE)= (80-2*[{R#[B14+2*[135EE & £]13.9)
*2=199.6
#4 BA5-E T % #4 - TiRBE= Int(((310-80)/2)/10.0)+1=12 50.3
</ E TR R= (219.6+199.6)*12/100=50.3 M
#4 BE-pRih #4th R 55 8= Int(((310-80)/2)/15.0)+1=8 335
<7 rhRiniE K= (219.6+199.6)*8/100=33.5 M
#4 BH-RERE HAR B =48 K =(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
BERIE

RIS EE1)16-#10 ($H2)X-#X
ABHIH:(HE1)16-#10 ($H2)X-#X
{BiEAREE(1)4:10-10*16%
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ETRECE

FHEHR:(90+80)*2*310/10000=10.54 M2

R EEAR RO

%:158:-(B10) 50*80/10000=0.40
%:2;:8:-(G19) 50*80/10000=0.40
%:358:-(CB10) 40*60/10000=0.24
%:458:-(G20) 50*80/10000=0.40
KL E/NET:1.44 M2

HEMREEAR MR O RR:

%:1i%:30.00%16/10000=0.0480
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:4i%:40.00%16/10000=0.0640
LL_E/NEH:0.2240 M2

RS E AR RO RR:

LA E/VEt:0.00 M2
FEhRAEET:10.54-[FE R 3T HE]1.44-[#F iR 32 $]0.22-[#1 18 32 $%]0.00=8.88 M2

RC:tH&E:

90*80*310/1000000= 2.232 M3

Mt EAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)

$AfR/NET = 05270 T
EAR/NVEH(E) = 8.88 M2
R /NET = 2.232 M3

PNA21-01-#&8: B1 , 4 X5%: C37, KIBE5E: 5 [X1:+75,Y15:-85] R~H (B #4): BHK411 cm ERFEFE: 9990 cm2

#5:160.0 cm

A R~:100.0 cm * 100.0 cm

#10 FHH(E1HR-—REB): (160+0)*20/100 32.00
| EH+HEE (L) (il
[#&#%=0])
#4 SMERR- £ T i SMERE(H )= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 3.96
[; E THEEE= Int(((160-160)/2)/10.0)+1=1
ETHEEE= 395.6*1/100=3.96 M
#4 SR -th 3 SMERE(H )= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 3.96
[; rh 5B 28= Int(((160-160)/2)/10.0)+1=1
48 K= 395.6%1/100=3.96 M
#4 S\ R-BRE SMERE(H )= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 63.29
[; (Int(160/10))*395.6/100=63.29 M
YHERR-KERE XOKF)E R E(HR4E)= (99.95077-2*[{R & B14+2*[135 &
</ [ElR $4]13.9)*4=478.9 )
Y(EE)FEE ()= (99.95077-2* {RE[B]4+2*[135 R &
$4]13.9)*2=239.5
#4 B5- L TiF #4_F T iHE 8= Int(((160-160)/2)/10.0)+1=1 7.2
</ E TRk R= (478.9+239.5)*1/100=7.2 M
#4 BERh-rh ik #4rh R IHE B= Int(((160-160)/2)/10.0)+1=1 7.2
<7 bR iGRER = (478.9+239.5)*1/100=7.2 M
#4 Bi-BREE HARF BB R =(478.9+239.5)*Int(160/10)/100= 114.94 M 114.9

BERAIE

R (E1)20-#10 ($H2)X-#X
ARBHIH:(HE1)20-#10 ($H2)X-#X
{BiEAREE(1)48:10-10*20%

RhREtH:

TR (B AiEER]411.3160/10000=6.58 M2

HEEEAR RO

:152:-(B21) 80*160/10000=1.28
KL E/NET:1.28 M2

HEhRE AR RO BR:

%5:1i%:132.00*16/10000=0.2112
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%:2:%:10.00"16/10000=0.0160
%:3i%:90.00%16/10000=0.1440
%:43%:99.30%16/10000=0.1589
LL_E/NEH:0.5301 M2
NS B AR IR
EHENE:1(3F SorE ZE):=20%(160-0)/10000=0.32
E R 2(MRE )-:FS9=20%(160-40)/10000=0.24
LLE/VET:0.56 M2
$§Hlxi+{ﬁ§:§+:6.58-[$$*r?€ RHE]1.28-[+#E kR 3 $%]0.53-[#F & XX $%]0.56=4.21 M2
RC:Et&E:
[ B 4t £ E$5]9990.2*160/1000000=1.598 M3
-------------- R R 0] N —
et EHER:
#4=200.515 M (200.515 M*0.994/1000= 0.1993 T)
#10=32.000 M (32.000 M*6.390/1000= 0.2045 T)
$MAR/NET =0.4038 T
BAR/NEH(E) = 4.21 M2
R /e = 1.598 M3

PNA21-01-#£8: B1 , ¥ X5k C38, FIEF3k: 58 [X12:+114,Y4:-61] R~H(B H4): B&E374 cm EiE#E: 8365
cm2 , E&: 160.0 cm
B ATBRT:91.5cm *91.5¢cm

#10 EHH(E14E-—ARE): (160+0)*22/100 35.20
| -+ (Lg) (B
[#&$£=0])
#4 SVERR- L T i HMEREE(HT)= (91.46037+91.46037)*2-8*4+2*13.89=361.6 | 3.62
[; L+ THEBIE= Int(((160-160)/2)/10.0)+1=1
L+ FiE#ER= 361.6%1/100=3.62 M
#4 SMERR- R HMEREE(HT)= (91.46037+91.46037)*2-8*4+2*13.89=361.6 | 3.62
[; th R4 E4= Int(((160-160)/2)/15.0)+1=1
th R $E#E K= 361.6*1/100=3.62 M
#4 S\ ERR- R HMEREE(H )= (91.46037+91.46037)*2-8*4+2*13.89=361.6 | 57.86
[; (Int(160/10))*361.6/100=57.86 M
BHBEHER-KTERE | XOKF)ERE(FRAL)= (91.46037-2[{R#B4+2*[135E &
<7 (1G] $4]13.9)*4=445.0
Y(EE)ERE(HAE)= (91.46037-2 [{R#[B)14+2*[135 R &
$4]13.9)2=222.5
#4 B LT #4 T i%EIE8= Int(((160-160)/2)/10.0)+1=1 6.7
</ Tk K= (445.0+222.5)*1/100=6.7 M
#4 Bip-thRih #4rh R EIEE= Int(((160-160)/2)/15.0)+1=1 6.7
<7 thRiG#E K= (445.0+222.5)*1/100=6.7 M
#4 Em-REE HAR B [ 48 K =(445.0+222.5)*Int(160/10)/100= 106.79 M 106.8
BERIE:

EEREES:(HE1)22-#10 (#B2)X-#X
REHER:(E1)22-410 ($82)X-#X
BiEARE(1)4:10-10"22%
AR E:
TR [B AER]374.2160/10000=5.99 M2
R BRI
%:13%:-(B31) 60*160/10000=0.96
%:2i%:-(G44) 80*160/10000=1.28
LLE/NET:2.24 M2
FE RSB AR AR IR
%5:352:30.00*16/10000=0.0480
LLE/NET:0.0480 M2
NS B AR AR IO PR
LA _E/NET:0.00 M2
Eﬁl%rﬁé 151:5.99- (AR R $£]2.24-[#E iR 33 $5]0.05-[#E 15 32 $%]0.00=3.70 M2
RCE
[ B F 4% & #%18365.0*160/1000000=1.338 M3
-------------- HHEERN -
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Mt ERER:

#4=185.233 M (185.233 M*0.994/1000= 0.1841 T)
#10=35.200 M (35.200 M*6.390/1000= 0.2249 T)

$ARR/INET =0.4000 T
HBAR/NET(E) = 3.70 M2
SRR /NET = 1.338 M3

PNA21-01-#8&: B1 , #: X5k C39, (L& F5k:

cm2 , E: 160.0 cm

E# AR R~:88.5cm * 88.5cm

59 [X12:+178,Y5:-183] R~T(E fi4¥): ;B &K361 cm ERETE: 7827

#10 EH(E1H-—HEE): (160+0)*20/100 32.00
| FH+HEE (L) (M
[##=0))
#4 SMER- £ T i S5 R EE ()= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 3.50
g £ T 45 2= Int(((160-160)/2)/10.0)+1=1
£ T R= 349.71/100=3.50 M
#4 HME - R S\MERE ()= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 3.50
E; rh SR 5 B 88= Int(((160-160)/2)/15.0)+1=1
rh R $E#E K= 349.7*1/100=3.50 M
#4 sMER- B S\MERE ()= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 55.95
g (Int(160/10))*349.7/100=55.95 M
BHEBHER-KEAE | XOKFE)EREHRE)= (88.47034-2*[{REE]|4+2*[135E &
< EA $4]13.9)*4=433.0 ]
Y(ZEE)ERE(F )= (88.47034-2* (R B]4+2*[135E &
$1]13.9)*2=216.5
#4 BH-LE T #4_E T i B B= Int(((160-160)/2)/10.0)+1=1 6.5
< £ TR R= (433.0+216.5)*1/100=6.5 M
#4 BE-h i #4th R E E= Int(((160-160)/2)/15.0)+1=1 6.5
<7 rh R #E K= (433.0+216.5)*1/100=6.5 M
#4 BiHh-REE #4 R EHR=(433.0+216.5)*Int(160/10)/100= 103.92 M 103.9

FREATH:(FE1)20-#10 (FE2)X-#X
ARBHIH:(HE1)20-#10 (FH2)X-#X
1EHERE(1)48:10-10"20%

BhRETE:

F R [B AEK]360.84160/10000=5.77 M2

HEEEAR RO

%:158:-(B31) 60*160/10000=0.96
%:2;:8:-(G45) 80*160/10000=1.28
L E/INET:2.24 M2

HERREEAR MR O BR:

%:1i%:52.40%16/10000=0.0838
LL_E/VEH:0.0838 M2

S E AR RO RR:

LU E/NEH0.00 M2
FERRAEET:5.77-[AE R 3 $%]2.24-[#E MR 32 $#£]0.08-[#% 15 32 $%]0.00=3.45 M2

RCEE:

[B B4 #mEFE]7827.0160/1000000=1.252 M3
-------------- G E L Y] ) —

et EAER:

#4=179.851 M (179.851 M*0.994/1000= 0.1788 T)
#10=32.000 M (32.000 M*6.390/1000= 0.2045 T)

$MRR/MET =0.3833 T

ARG (E) = 3.45 M2

BEE LN = 1.252 M3

PNA21-01-#£/8: B1, #fX5%: C16, fIEF55%: 51 [X8:+19,Y3:+64] R~: 90 cm * 80 cm , #£5: 310.0 cm
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#10 F (5 14R-—HEB): (310+0)*16/100 49.60
| T+ REE(Lg) (B
[#&#%=0])
#4 SMER- £ T 55 R BE(H2)= (90+80)*2-8*4+2*13.89=335.8 40.29
g B H= Int(((310-80)/2)/10.0)+1=12
T R= 335.812/100=40.29 M
#4 VAS T RaE S s\ (F )= (90+80)*2-8*4+2%13.89=335.8 26.86
g rh Je 4 2k= Int(((310-80)/2)/15.0)+1=8
th 8 K= 335.8*8/100=26.86 M
#4 VAS il R S\ R E(F )= (90+80)*2-8*4+2%13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135F & £4]13.9)
<7 EM *2=219.6 ]
Y(EE)ARE )= (80-2 R #B]4+2*[135F & $7]13.9)
*2=199.6
#4 Bip-LTim #4 £ T inE 2= Int(((310-80)/2)/10.0)+1=12 50.3
</ E T R= (219.6+199.6)*12/100=50.3 M
#4 BE-hRim #4rh R IR EIEL= Int(((310-80)/2)/15.0)+1=8 335
<7 i K= (219.6+199.6)*8/100=33.5 M
#4 BH-BEE HARZ [ERE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
BERHE:

FRERTHGER1)16-#10 ($H2)X-#X
ABEEH:(FE1)16-#10 ($H2)X-#X
BERE(1)#:10-10*16%
BhRETE:
F#HR:(90+80)*2*310/10000=10.54 M2
FEARE AR MO RR:
%:158:-(G11) 50*80/10000=0.40
%:258:-(B11) 50*80/10000=0.40
%:358:-(G12) 50*80/10000=0.40
LLE/NET:1.20 M2

FERRE AR M A0 BR:
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:4%:40.00%16/10000=0.0640
LLE/NET:0.1760 M2

AR E AR M0 BR:
EEE 1 (FRE)-:G12=25%(310-80)/10000=0.58
Ll E/NEF:0.58 M2

$§Hl%rﬁ%§§+:1o.54-[$ii§s*c¢§]1 20-[#EhR 33 $%]0.18-[#1 15 32 $£]0.58=8.59 M2

RCEHE:

90*80*310/1000000= 2.232 M3

Mt EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
$ARR/INET = 05270 T
HBAR/NVET(E) = 8.59 M2
SR NET = 2.232 M3

PNA21-01-#/8: B1, #1585 C16, 1B FF8: 45 [X6:-164,Y3:+208] R~F: 90 cm * 80 cm , ¥ &: 310.0 cm

#10 FEA(E1HE-—RERB): (310+0)*16/100 49.60
| 5 (Lo (52
[#B#=0])
#4 SR E- L T i SRR B ()= (90+80)*2-8*4+2*13.89=335.8 40.29
@ L+ THEBEIE= Int(((310-80)/2)/10.0)+1=12
I FHE#E K= 335.812/100=40.29 M
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#4 SMER-h R 514 K BE (%)= (90+80)*2-8*4+2*13.89=335.8 26.86
@ rh R 24= Int(((310-80)/2)/15.0)+1=8
th R iR = 335.8*8/100=26.86 M
#4 SMER-RE SR E(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
EMEBHR-KEME | XOKE)MEEHRE)= (90-2*[{REB]14+2*[135FE£47]13.9)
</ (=G *2=219.6 )
Y(EE)AREHRHE)= (80-2[REE4+2*[135EE$7]13.9)
*2=199.6
#4 BH5-E T #4 + TR BIE= Int(((310-80)/2)/10.0)+1=12 50.3
</ E T R= (219.6+199.6)*12/100=50.3 M
#4 BE-h Rk i% #4rh RIGEIBE= Int(((310-80)/2)/15.0)+1=8 335
</ th i K= (219.6+199.6)*8/100=33.5 M
#4 BH-BERE #ARZ EHE R =(219.6+199.6)*Int(80/10)/100= 33.53 M 335
BEFTE

EBAEE(H1)16-#10 ($A2)X-#X
ABAEE:(M1)16-#10 ($A2)X-#X
IR (1)4:10-10*16%
BRIRETE:
FHERR:(90+80)*2*310/10000=10.54 M2
PR E AR MO RR:
%:15%:-(G12) 50*80/10000=0.40
%:2;8:-(B11) 50*80/10000=0.40
%:35%:-(G12) 50*80/10000=0.40
Ll E/NEH1.20 M2

FERRE BEAR MR A0 B
%:25%:40.00*16/10000=0.0640
%5:35%:30.00*16/10000=0.0480
%5:45%:40.00*16/10000=0.0640
L E/NEF0.1760 M2

AR E AR R O B

EiEiE 1 (B E)-:G12=25%(310-80)/10000=0.58
EiZiE2(BE)-:G12=25%(310-80)/10000=0.58

LLE/NVET:1.15 M2

AR AEET:10.54- [ 3 #]1.20-[#F hR 32 $£]0.18-[#E #E 32 $%]1.15=8.01 M2

RCEH&E:
90*80*310/1000000= 2.232 M3

MArEt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)

$MER/INET = 05270 T
ARG (E) = 8.01 M2
iR /NET =2.232 M3

PNA21-01-#£[&: B1 , 1% C12, fIEFF5E: 24 [X3:-39,Y4:+52] R~t: 128 cm * 80 cm , 4£%&: 310.0 cm

#8 FH(E14E-—ARRE): (310+0)*24/100 74.40
| A+ (Lg) (B
[#&#£=0])
#4 SMERR-L T i SMERE(HR)= (128+80)*2-8*4+2%13.89=411.8 49.41
g + THEREZ= Int(((310-80)/2)/10.0)+1=12
+TFiERE=411.812/100=49.41 M
#4 SME - R HMERE(HR)= (128+80)*2-8*4+2%13.89=411.8 32.94
g th LA 2= Int(((310-80)/2)/15.0)+1=8
th R fEfa K= 411.8*8/100=32.94 M
#4 SME - HMERE(H )= (128+80)*2-8*4+2%13.89=411.8 32.94
g (Int(80/10))*411.8/100=32.94 M
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EmEBERR-KER,E XOKFE)ERE(GHAL)= (128-2*[{RE B4+2*[135/E & i)
<7 | EMm 13.9)"2=295.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*4=399.1
#4 BT #4 & T 85 B 2= Int(((310-80)/2)/10.0)+1=12 83.4
<2 T8 E= (295.6+399.1)12/100=83.4 M
#4 B-rh i #4th RSB = Int(((310-80)/2)/15.0)+1=8 55.6
<7 th R 48 = (295.6+399.1)*8/100=55.6 M
#4 BE-BEE HAR R E R R =(295.6+399.1)*Int(80/10)/100= 55.57 M 55.6
FEEHE

EBA TS (401)24-#8 ($B2)X-#X
ABA T (101)24-#8 ($B2)X-#X
B85 (1)58:8-8*24%

BhREHE:

F 1% hfr:(128+80)*2*310/10000=12.90 M2

HEEERR RO

%:158:-(G2) 55*80/10000=0.44
%:25%:-(G13) 50*80/10000=0.40
%:35%:-(G9) 50*80/10000=0.40
%:45%:-(B5) 50*80/10000=0.40
LLE/NET:1.64 M2

HEMRE AR MR 0 PR

%:1i%£:30.00*16/10000=0.0480
55:258:77.50*16/10000=0.1240
%:3i%:30.00*16/10000=0.0480
%5:458:77.50*16/10000=0.1240
LLENET:0.3440 M2

RSB R AR M O PR

E RS 1(BE)-:G13=25%(310-80)/10000=0.58

)_
EEIE2(RK)-
EEES(REK)-

)_

:G9=25%(310-80)/10000=0.58
:G2=25%(310-80)/10000=0.58

I 4(MRUE )-:S2=15%(10-10)/10000=0.00
LLE/NER1.73 M2
AR AEET:12.90-[FE R 3 #]1.64-[#F hR 32 $£]0. 34-[#E #E 32 $%]1.73=9.19 M2

RCEHE:

128*80*310/1000000= 3.174 M3

MArEt HAER:

#4=309.811 M (309.811 M*0.994/1000= 0.3080 T)
#8=74.400 M (74.400 M*3.980/1000= 0.2961 T)

MER/INET =0.6041 T
BAR/NVET(E) =9.19 M2
Bt /NEr =3.174 M3

PNA21-01-#£[&: B1, ¥ H8%: C8, B FHE: 15 [X2:-2,Y6:-240] R~F: 80 cm * 90 cm , 4£5: 310.0 cm

#8 F (5 14R-— AR B): (310+0)*18/100 55.80
| F A+ (L) (JEE
[##£=0))
#4 SMER- L T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 40.29
@ £ FHEE = Int(((310-80)/2)/10.0)+1=12
+ TR E= 335.8412/100=40.29 M
#4 SMERR-th R SR EE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ R FEE = Int(((310-80)/2)/15.0)+1=8
th i i8R = 335.8*8/100=26.86 M
#4 s\ R5-BR SR EE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
D (Int(80/10))*335.8/100=26.86 M
EHmEBEHRR-KFERE X(KF)ARE(H )= (80-2*[{RFEE]14+2*[135E E4]13.9)
<7 e *2=199.6 .
Y(EE)ERE(H 4= (90-2*[{FEB14+2* 135 €£45]13.9)
*2=219.6
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#4 B5- £ Tin #4 £ T i#EB= Int(((310-80)/2)/10.0)+1=12 50.3
<7 L FixiER= (199.6+219.6)*12/100=50.3 M
#4 BE-hRim #4rh RIH B ER= Int(((310-80)/2)/15.0)+1=8 335
<7 i K= (199.6+219.6)*8/100=33.5 M
#4 BH-BERE HAR R EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
fEEsTE:

LRERTH:(HE1)18-#8 (FH2)X-#X
ABHEH:(HH1)18-#8 (FH2)X-#X
HEIEIRE(1)4:8-8"18%

BhREHH:

F 1 hfr:(80+90)*2*310/10000=10.54 M2

HEEERAR RO

%:158:-(G7) 50*80/10000=0.40
%:25%:-(B7) 50*80/10000=0.40
%:35%:-(B8) 50*50/10000=0.25
LLE/NVET:1.05 M2

HEMRE AR MR 0 PR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:45%:45.00*16/10000=0.0720
LLE/VET:0.1840 M2

RS E R AR MR O PR

B 1(FRE)-:B7=15*(310-80)/10000=0.35
B2 (MK )-:S1=25%(310-15)/10000=0.74
LL_E/VET:1.08 M2
AR AEET:10.54-[FE R 3 H5]1.05-[#F hR 32 $]0.18-[#E 5 32 $%]1.08=8.22 M2

RCEH&E:

80*90*310/1000000= 2.232 M3

Mt HAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=55.800 M (55.800 M*3.980/1000= 0.2221 T)

MER/INET =0.4322T
BAR/IEH(E) = 8.22 M2
iR /NE = 2.232 M3

PNA21-01-#£[&: B1 , 1% C1, fIiEFHE: 22 [X3:-22,Y1:-115] R~: 80 cm * 90 cm , & 310.0 cm

#10 EH(E14-—ARRE): (310+0)*18/100 55.80
| 5 B (Lo (4
[#&$£=0])
#4 SVERR- £ T iR h\E R EE ()= (80+90)*2-8*4+2*13.89=335.8 40.29
g L+ THEBIE= Int(((310-80)/2)/10.0)+1=12
I T K= 335.812/100=40.29 M
#4 ST R SRR EE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
g o SRR EE= Int(((310-80)/2)/15.0)+1=8
bR RE = 335.88/100=26.86 M
#4 NE-BRE h\ER B ()= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERRE-KFER,E | XOKF)AEEFRIE)= (80-2 [{RERE]4+2*135E E£]13.9)
</ Em[ *2=199.6 .
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135E £ £]13.9)
*2=219.6
#4 BA5-E T % #4 T imEE= Int(((310-80)/2)/10.0)+1=12 50.3
</ ETFin#ER= (199.6+219.6)*12/100=50.3 M
#4 BE-pRin #4rh IR EIEE= Int(((310-80)/2)/15.0)+1=8 33.5
<7 rhRiniE K= (199.6+219.6)*8/100=33.5 M
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#4 Em-REE HARZE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5

BERGE:

LEFEH:(#R1)18-# (‘fEZ)X #X

AT 5 (H21)18#10 (HA2)X-#X

BHERE(1)4:10-8*1 i
BRRETE:

F 1 hk:(80+90)*2*310/10000=10.54 M2

AR E AR IO

%:1;:%:-(CG1) 40*60/10000=0.24
%:2;%:-(G1) 55*80/10000=0.44
%:35%:-(B1) 50*80/10000=0.40
LA E/NEH1.08 M2
M RGEEEMORR:
%:1i8:40.00*16/10000=0.0640
%:3i8:40.00*16/10000=0.0640
%:438:30.00*16/10000=0.0480
LA E/NEH0.1760 M2
AR E A MO
R4 (BRI )-:B1=25%(310-80)/10000=0.58
IR 2 (BRE )-:G1=25*(310-80)/10000=0.58
LA E/NEE1.15 M2
$§H@rﬁ§§+:1o.54-{ﬁf£m§]1 08-[#E R 3T$£]0.18-[#E & AT $£]1.15=8.13 M2
RCEtHE:
80*90*310/1000000= 2.232 M3
-------------- HEER N
Mt ERR:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$MER/INET = 0.5667 T
BAR/INET(E) = 8.13 M2
s t/hEt =2.232 M3

PNA21-01-#£[&: B1 , 1%k C6, B FHE: 12 [X2:-2,Y1:-115] R~F: 80 cm * 90 cm , #&: 310.0 cm

#8 FHh(E1HR-—REB): (310+0)*20/100 62.00
| T+ (L) (%
[#&#%=0])
#4 SMER- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 40.29
g T E= Int(((310-80)/2)/10.0)+1=12
+ TiEfER= 335.812/100=40.29 M
#4 SME - R SR EE (B )= (80+90)*2-8*4+2*13.89=335.8 26.86
g rh Je 45 B 24= Int(((310-80)/2)/15.0)+1=8
rh R §E#E K= 335.8*8/100=26.86 M
#4 SMER- B SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHEBEHR-KERE | XOKP)AEEF )= (80-2*[{RERE]4+2*[135E E4$7]13.9)
<2 EM *2=199.6 )
Y(EHE)ERE(F )= (90-2* (R #[B]4+2*[135F & $4]13.9)
*2=219.6
#4 B5- LT #4_F T iHE 8= Int(((310-80)/2)/10.0)+1=12 50.3
</ ETFin#ER= (199.6+219.6)*12/100=50.3 M
#4 M- R R #4th R 55 8= Int(((310-80)/2)/15.0)+1=8 33.5
<2 rh R iERER = (199.6+219.6)*8/100=33.5 M
#4 BH-RERE HARF [EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 33.5

BERIE

L EBAE 5 (#81)20-#8 (#E2)X-#X
ABHIH:(FE1)20-#8 (FH2)X-#X
BHERE(1)40:8-8*20%

RhREtH:

FHKR:(80+90)*2*310/10000=10.54 M2
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BRI IO RR:
%:1;:8:-(CG5) 40*60/10000=0.24
%:2;:8:-(B1) 50*80/10000=0.40
%:358:-(G5) 50*80/10000=0.40
%:458:-(B2) 50*80/10000=0.40
LLE/NEE:1.44 M2

FERRE IR IR IR
%:13i%:40.00%16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:3i%:40.00%16/10000=0.0640
%:4i%:30.00%16/10000=0.0480
LL_E/NEH:0.2240 M2

RSB AR IO R

E R 1 (FRE)-:B2=25%(310-80)/10000=0.58
E RS 2(FRE)-:B1=25%(310-80)/10000=0.58

L E/NEH1.15 M2

FERRAEET:10.54-[FE R 3T HE]1.44-[#E R 32 $]0. 22-[#E #E 32 $%]1.15=7.73 M2

RC:tH&E:
80*90*310/1000000= 2.232 M3

Mt EAER:

#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=62.000 M (62.000 M*3.980/1000= 0.2468 T)

ARR/INET = 04569 T
BAR/NEH(E) = 7.73 M2
R /NET = 2.232 M3

PNA21-01-#£f&: B1 , #HX5%: C2, friEFa%: 23 [X3:-22,Y2:+215] R~t: 80 cm * 90 cm, #£&: 310.0 cm

#10 ERF(E14-—HRE): (310+0)*18/100 55.80
| T+ (L) (1B
[#&#=0])
#4 SV ER- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 40.29
B L+ THE = Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SME -t R S\ B (H2)= (80+90)*2-8*4+2*13.89=335.8 26.86
B R EEE8= Int(((310-80)/2)/15.0)+1=8
R iERER = 335.8*8/100=26.86 M
#4 SMERR-BRE 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
EMEBHR-KERE | XOKE)MEEFRE)= (80-2*[{REB14+2*[135EE$7]13.9)
< (=G *2=199.6 ]
Y(EE)E K E(H )= (90-2*[{R#B14+2* 135 E4$5]13.9)
*2=219.6
#4 Bip-LTim #4_E T imEI28= Int(((310-80)/2)/10.0)+1=12 50.3
</ L TFig#E K= (199.6+219.6)*12/100=50.3 M
#4 B ih-hRki% #4rh R IR EIEL= Int(((310-80)/2)/15.0)+1=8 33.5
<7 fh R iR = (199.6+219.6)*8/100=33.5 M
#4 EH-REE HARZ [E R R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BESTE:

ERBREEH:HE1)18-#10 (#H2)X-#X
AR ER:(FE1)18-#10 ($82)X-#X
BI85 5 (1)#0:10-10718%
EhRETH:
F 4 hk:(80+90)*2*310/10000=10.54 M2
FERRE R IR IORR:
%:15%:-(G1) 55*80/10000=0.44
%5:2i%:-(G2) 55*80/10000=0.44
%5:3i%:-(B3) 50*80/10000=0.40
YL E/NET1.28 M2
FERRE AR R IR
5:1:2:40.00%16/10000=0.0640
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%:35%:40.00"16/10000=0.0640
%:4i%£:30.00*16/10000=0.0480
Ll E/NEH:0.1760 M2
SRR
E 1 (B K )-:G2=25%(310-80)/10000=0.58
E RS 2(FR K )-:B3=25%(310-80)/10000=0.58
E RS 3(FRE)-:G1=25%(310-80)/10000=0.58
LLE/NETA1.73 M2
$§H&+{h§:§+:10.54-[m¥§¥§]1.28-[7&#& 3 $£]0.18-[#E A% XX $]1.73=7.36 M2
RCEtE&E:
80*90*310/1000000= 2.232 M3
-------------- FECE T I S—
T EER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$RAR/INET = 0.5667 T
HERR/NETH(E) = 7.36 M2
BB /NG = 2232 M3

PNA21-01-#£/8: B1, 5% C1, RIER5%: 1 [X1:4#118,Y1:-115] R~: 80 cm * 90 cm , #£5: 310.0 cm

#10 ERF(E14-—HRE): (310+0)*18/100 55.80
| T+ (Lg) (1B
[#&#=0])
#4 SMER-L T SR EE ()= (80+90)*2-8*4+2*13.89=335.8 40.29
@ L+ THE = Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SMERR-h R 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ fh R EEE8= Int(((310-80)/2)/15.0)+1=8
th R iEfER = 335.8*8/100=26.86 M
#4 SMERR-BRE S\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHBEHR-KER,E XOKFE)ERE(HHAE)= (80-2*[{R#B]4+2*[135E & $7]13.9)
</ B *2=199.6 .
Y(EHE)EKE (4= (90-2 (R #B14+2* 135 E£4$5]13.9)
*2=219.6
#4 Bip-LTim #4 £ T iHEI28= Int(((310-80)/2)/10.0)+1=12 50.3
</ Lt TFig#E K= (199.6+219.6)*12/100=50.3 M
#4 Bih-h k% #4rh RIFEIEL= Int(((310-80)/2)/15.0)+1=8 33.5
<7 fh R iR = (199.6+219.6)*8/100=33.5 M
#4 BE-BRERE HARZ [ERE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BESTE:

EBREH:(ME1)18-#8 (FH2)X-#X

ABEER:(FE1)18-#10 ($H2)X-#X

B (1)48:10-8*18%

EhRET S

F 4 hk:(80+90)*2*310/10000=10.54 M2

FERRE R IR IORR:
%5:15%:-(CG1) 40*60/10000=0.24
%5:2i%:-(B2) 50*80/10000=0.40
%5:3i%:-(G1) 55*80/10000=0.44
KL E/NET1.08 M2

FERRE AR hRIORR:
%5:17%:40.00*16/10000=0.0640
%5:2#%:30.00%16/10000=0.0480
%5:37%:40.00%16/10000=0.0640
%5:4%:80.00%16/10000=0.1280
LA E/NEF:0.3040 M2

AR E AR RO RR:
BN 1 (MRE)-:S1=25%(310-15)/10000=0.74
BN 2(hRE)-:CS=25*(310-15)/10000=0.74
KL E/NET1.48 M2
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*EH%&§:§+:10.54-[$H%€§#§]1 .08-[# R 32 #%]0.30-[#¥ 15 X $%]1.48=7.68 M2
RCEH&E:
80*90*310/1000000= 2.232 M3

et EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
AR /INET = 0.5667 T
BAR/NVEH(E) = 7.68 M2
R /NET = 2.232 M3

PNA21-01-#&/8: B1 , 5% C2, fIiER5%: 3 [X1:+118,Y4:+45] R~F: 80 cm * 90 cm , ¥ &: 310.0 cm

#10 ERF(E14-—HRE): (310+0)*18/100 55.80
| T+ (Lg) (1B
[#&#=0])
#4 SMER-L T SR ()= (80+90)*2-8*4+2*13.89=335.8 40.29
@ T H= Int(((310-80)/2)/10.0)+1=12
T K= 335.8%12/100=40.29 M
#4 SMERR-h R SR E ()= (80+90)*2-8*4+2*13.89=335.8 26.86
@ rh Je B 2k= Int(((310-80)/2)/15.0)+1=8
R fEfE R = 335.8*8/100=26.86 M
#4 SMERR-BRE 5\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 26.86
@ (Int(80/10))*335.8/100=26.86 M
BHEBEER-KFER,E XOKFE)ERE(HHAE)= (80-2*[{R#B]4+2*[135E & $7]13.9)
</ B *2=199.6 .
Y(EE)E K E(H )= (90-2 (R #B14+2*[135EE E4$7]13.9)
*2=219.6
#4 Bip-LTim #4_F T ixE28= Int(((310-80)/2)/10.0)+1=12 50.3
</ L TFig#E K= (199.6+219.6)*12/100=50.3 M
#4 Bih-h k% #4rh R IR BIEL= Int(((310-80)/2)/15.0)+1=8 335
</ rh R iR = (199.6+219.6)*8/100=33.5 M
#4 B5-BRRE HARZ [EHE R =(199.6+219.6)*Int(80/10)/100= 33.53 M 335
BESTE:

EEHEEH(EE1)18-#10 (KB2)X-#X
ABEE:(FE1)18-#10 ($H2)X-#X
1EHERSE(1)48:10-10"18%

BARETE:

F AR (80+90)*2*310/10000=10.54 M2
HRRE AR R IO
%#:138:-(G2) 55*80/10000=0.44
%:258:-(B6) 50*80/10000=0.40
%£:358:-(G3) 50*75/10000=0.38
Ll E/NEH1.22 M2
HERRE AR AR 0B
%£:138:40.00*16/10000=0.0640
%£:258:30.00*16/10000=0.0480
%£:338:40.00*16/10000=0.0640
%£:458:80.00*16/10000=0.1280
Ll k/NEH0.3040 M2
RS E AR AR 0B
1 (MR )-:CS=25%(310-15)/10000=0.74
TR 2(F2 K )-:G3=25*(310-75)/10000=0.59
LLE/NET1.33 M2

*EH%%E‘I‘A 0.54-[#F#R 3 $E]1.22-[#E A 33 $£]0.30-[#E #E 32 $£]1.33=7.70 M2

RCEE:
80*90*310/1000000= 2.232 M3

Mt EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
MR /INET = 0.5667 T
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BRR/NET(E) = 7.70 M2
SRR /NET = 2.232 M3

PNA21-01-#£f&: B1 , #X3%: C20, fIiEF5%E: 56 [X10:+74,Y4:+144] R~F:90 cm * 80 cm , #75: 310.0 cm

#8 EH(E1E-—EB): (310+0)*20/100 62.00
| g (Lo (B
[##£=0])
#4 S\iE- £ T SNEEE(HT)= (90+80)*2-8*4+2%13.89=335.8 26.86
g T EBE = Int(((310-160)/2)/10.0)+1=8
T E= 335.8*8/100=26.86 M
#4 SRR3R SNEEE(HT)= (90+80)*2-8*4+2*13.89=335.8 20.15
g rh S E 2= Int(((310-160)/2)/15.0)+1=6
i E= 335.8%6/100=20.15 M
#4 H\ER-BRE S\EEE(HT)= (90+80)*2-8*4+2%13.89=335.8 53.72
g (Int(160/10))*335.8/100=53.72 M
EMEBERER-KFER,E | XOKE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<7 A *2=219.6 )
Y(BE)AEE(H )= (80-2*[{RHEE4+2*[135E &45]13.9)
*2=199.6
#4 Bh5- T #4 & T8 #= Int(((310-160)/2)/10.0)+1=8 335
</ i E= (219.6+199.6)*8/100=33.5 M
#4 Y& -rh i #40h SR Bh= Int(((310-160)/2)/15.0)+1=6 25.1
<7 thREEE £ = (219.6+199.6)"6/100=25.1 M
#4 BE-BREE HAREEME=(219.6+199.6)*Int(160/10)/100= 67.06 M 67.1
HEEHR

EBA TS (401)20-#8 ($B2)X-#X
ABAEE:(181)20-#8 (H12)X-#X
1EIE285E(1)58:8-8*20%

EhRETE:

F42Hk:(90+80)*2*310/10000=10.54 M2

HRGE AR AR O RR:

%:152:-(B13) 50*80/10000=0.40
%5:25%:-(G44) 80*160/10000=1.28
%:352:-(B14) 50*80/10000=0.40
%:45%:-(G14) 50*80/10000=0.40
LLE/NVET:2.48 M2

FERRE AR AR O BR:

%:15%:30.00*16/10000=0.0480
%:25%:10.00*16/10000=0.0160
%5:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VE:0.1760 M2

FEHE AR RO PR:

Ll _E/VEF:0.00 M2
AR AEET:10.54-[FE R 3 $]2.48-[#F hir 32 $]0.18-[#1 45 32 $%10.00=7.88 M2

RCEtH&E:

90*80*310/1000000= 2.232 M3

MArEt HAER:

#4=226.472 M (226.472 M*0.994/1000= 0.2251 T)
#8=62.000 M (62.000 M*3.980/1000= 0.2468 T)

MAR/INEE = 04719 T

ARG () = 7.88 M2
iR /NE = 2.232 M3

PNA21-01-#£[&: B1 , #18F: C17, SIEF5E: 52 [X8:-109,Y5:-212] R~:90 cm * 80 cm , & 310.0 cm

#8

EH(E1E-—RE):
EE (L) (1
[##E=0])

(310+0)*18/100

55.80
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#4 SME - £ T i SV R E (A R2)= (90+80)*2-8*4+2*13.89=335.8 40.29
L+ THEE24= Int(((310-80)/2)/10.0)+1=12

L+ TiE#ER= 335.8%12/100=40.29 M

#4 MR- rh SR M5B B (F57)= (90+80)*2-8*4+2*13.89=335.8 26.86
th s 5 2= Int(((310-80)/2)/15.0)+1=8

fh R fE#E K= 335.8*8/100=26.86 M

(Int(80/10))*335.8/100=26.86 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (90-2*[{R#EB]4+2*[135E & $4]13.9)
iR *2=219.6
Y(EE)AREHRE)= (80-2[REE4+2*[135EE$7]13.9)
*2=199.6

#4 BE- L T #4 + T 5B %= Int(((310-80)/2)/10.0)+1=12 50.3

L+ FimfER= (219.6+199.6)*12/100=50.3 M

#4 8-l #4rh RG] ER= Int(((310-80)/2)/15.0)+1=8 33.5

Rin#E K= (219.6+199.6)*8/100=33.5 M

#4

#4 g SMERS-RE SN R FE(F )= (90+80)*2-8*4+2+13.89=335.8 26.86
BE-BEE HARF EME=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5

EESIE
R EH:(MR1)18-#8 (FH2)X#X
AEFEEFH:(FE1)18-#8 ($H2)X-#X
MBI RE(1)1H:8-8"18%
BhRET &
F48HR:(90+80)*2*310/10000=10.54 M2
PR E AR MO RR:
%5:138:-(B11) 50*80/10000=0.40
25:2i8:-(G14) 50*80/10000=0.40
25:3i8:-(B12) 50*80/10000=0.40
%5:438:-(G15) 50*80/10000=0.40
LL_E/VET1.60 M2

FE MBS R OB
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LL_E/VE:0.2240 M2

NS E AR R O PR
Ll _E/NEF:0.00 M2

$§H@rﬁ§§+:1o.54-{&?¥§¥§]1 60-[#EhR 33 $%]0.22-[#F 5 32 $£]0.00=8.72 M2

RCE&E:

90*80*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=55.800 M (55.800 M*3.980/1000= 0.2221 T)
SMER/INET =0.4322T
BAR/NEH(E) = 8.72 M2
iR /NE = 2.232 M3

PNA21-01-#£f8: B1 , #HX5%: C10, fiiEFF3%: 25 [X3:-153,Y6:-244] R~1: 90 cm * 90 cm, #&: 310.0 cm

#10 FH(E1HE-—REE): (310+0)*16/100 49.60
| T+ (Lg)(1EHE
[#&#£=0])
#4 SMERR- £ T HMERE (B )= (90-4*2)*3.1416+2*48%1.27=379.5 45.54
@ + THEREZ= Int(((310-80)/2)/10.0)+1=12
I FHEfR=379.512/100=45.54 M

ARG 2= Int(((310-80)/2)/15.0)+1=8

#4 @ yMERS-h R 148 5 B (B2 )= (90-4*2)*3.1416+2*48*1.27=379.5 30.36
th R 48K = 379.5*8/100=30.36 M
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#4 SMER-BRE 5V 45 5 B (B2 )= (90-4%2)*3.1416+2*48%1.27=379.5 30.36
@ (Int(80/10))*379.5/100=30.36 M
BHEBERR-RCH(E) XK ) A& E (B )= (90-2*4+2[##]*1.27*[1524]6)*2=194.5

</ Y(EE)AEE(ERI)= (90-2*4+2[1#]*1.27 ({5 81]6)*2=194.5

#4 Bi5-ETiE #4 + TR EIE= Int(((310-80)/2)/10.0)+1=12 46.7
<7 E T R= (194.5+194.5)*12/100=46.7 M

#4 BE-h Ri% #4rh RIGEIEE= Int(((310-80)/2)/15.0)+1=8 31.1
</ ik K= (194.5+194.5)*8/100=31.1 M

#4 BH-BERE HAR B EHE R =(194.5+194.5)*Int(80/10)/100= 31.12 M 31.1

BEFTE

EBAEE(H1)16-#10 ($A2)X-#X
ABAEE:(1B1)16-#10 ($A2)X-#X
EHERE(1)4:10-10*16%

BhREHE:

F R (EE4E):(90*3.1416)*310/10000=8.77 M2

HEERAR MO

%:15%:-(G9) 50*80/10000=0.40
%:25%:-(G16) 50*80/10000=0.40
%:35%:-(G10) 50*60/10000=0.30
%:45%:-(B7) 50*80/10000=0.40
LLE/NVE:1.50 M2

HEMRE AR b 0 PR

%:15%:50.00*16/10000=0.0800
%:25%:50.00*16/10000=0.0800
%:35%:50.00*16/10000=0.0800
%:45%:50.00*16/10000=0.0800
LL_E/VET:0.3200 M2

RSB R AR MR O PR

B 1 (R )-:G9=25%(310-80)/10000=0.58

B 2(FRE)-:G10=25%(310-60)/10000=0.63

LL_E V1,20 M2
AR AEET:8.77-[AE R 3 $E]1.50-[#E hin 32 $£]0. 32-[#F #5 32 $%]1.20=5.75 M2

RCEH&E:

EfZ4%: (90/2)72*3.1416*310/1000000= 1.972 M3

-------------- BB RN

MArEt HAER:

#4=215.177 M (215.177 M*0.994/1000= 0.2139 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)

SR /NG = 0.5308 T

BAR/NEH(E) = 5.75 M2
iREEE/NEF =1.972 M3

PNA21-01-#£[&: B1, ¥ 18F: C13, fIEFF5E: 39 [X5:+154,Y4:-146] R~F: 90 cm * 80 cm , 4 5&: 310.0 cm

#8 EEH(E1HE-—HBE): (310+0)*16/100 49.60
| 3 5+ (Lo (12
[#&$£=0])
#4 SR - L T i SRR B ()= (90+80)*2-8*4+2*13.89=335.8 40.29
g E T = Int(((310-80)/2)/10.0)+1=12
+ FiE#E K= 335.8*12/100=40.29 M
#4 SMERR-P R SRR B (A )= (90+80)*2-8*4+2*13.89=335.8 26.86
g o SRR E8= Int(((310-80)/2)/15.0)+1=8
R fERE R = 335.8+8/100=26.86 M
#4 S\ ERR- R SRR B ()= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHBHER-KTERE | XOKF)EREFRAL)= (90-2*[{R#B]4+2*[135F & £7]13.9)
</ B *2=219.6 .
Y(EE)EREE(HBE)= (80-2*[{R#[B14+2*[135FE & £4]13.9)
*2=199.6
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#4 B5- £ Tin #4_F TR 2= Int(((310-80)/2)/10.0)+1=12 50.3
<7 F iR R= (219.6+199.6)*12/100=50.3 M
#4 BE-hRin #4rh RIH B ER= Int(((310-80)/2)/15.0)+1=8 335
<7 ik K= (219.6+199.6)*8/100=33.5 M
#4 BH-BERE HAR R EHER=(219.6+199.6)*Int(80/10)/100= 33.53 M 335
fEEsTE:

EBAEEE(HR1)16-#8 ($B2)X-#X
AREHFER:(HE1)16-#8 (FH2)X-#X
MBI RE(1)1H:8-816%
BhRET &
F48HR:(90+80)*2*310/10000=10.54 M2
PR E AR MO RR:
2:138:-(G12) 50*80/10000=0.40
25:2i8:-(B9) 50*80/10000=0.40
25:3i8:-(G13) 50*80/10000=0.40
LL_E/NET1.20 M2
FERRE BEAR M A0 B
25:2i8:42.50*16/10000=0.0680
25:338:30.00*16/10000=0.0480
25:438:42.50*16/10000=0.0680
LL_E/VE:0.1840 M2
RS E AR MO RR:
B 1(FRE)-:G13=25%(310-80)/10000=0.58
T2 (KRE )-:G12=25*(310-80)/10000=0.58
LLE/NER1.15 M2
ﬁm%rfg?m 0.54-[#F R 3 $#]1.20-[#E ki 33 $]0.18-[#F 15 32 $£]1.15=8.01 M2
RCEHE:
90*80*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#8=49.600 M (49.600 M*3.980/1000= 0.1974 T)
$MER/INET = 04075 T
BhR/EH(E) = 8.01 M2
iR /NE = 2.232 M3

PNA21-01-#£f8: B1 , #£HX5%: C32, fiEFFaR: 48 [X8:+178,Y13:+25] R~t:90 cm * 80 cm, #&: 310.0 cm

#10 EH(E14-—ARRE): (310+0)*18/100 55.80
| 5 B (Lo (4
[#&$£=0])
#4 SVERR- £ T iR h\E R B ()= (90+80)*2-8*4+2*13.89=335.8 40.29
g L+ THEBIE= Int(((310-80)/2)/10.0)+1=12
I T K= 335.812/100=40.29 M
#4 ST R SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 26.86
g o SRR EE= Int(((310-80)/2)/15.0)+1=8
bR RE = 335.88/100=26.86 M
#4 NE-BRE SRR B ()= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
BHERRE-KFER,E | XOKF)AEEFRIE)= (90-2 [{RERE]4+2*135E E£]13.9)
</ Em[ *2=219.6 .
Y(EE)EREE(HB)= (80-2*[{R#[B14+2*[135FE & £4]13.9)
*2=199.6
#4 BA5-E T % #4 T imEE= Int(((310-80)/2)/10.0)+1=12 50.3
</ ETin#ER= (219.6+199.6)*12/100=50.3 M
#4 BE-pRin #4th R 5 8= Int(((310-80)/2)/15.0)+1=8 33.5
<7 rhRiniE K= (219.6+199.6)*8/100=33.5 M
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#4 BiH-BEE HARRZ R R=(219.6+199.6)*Int(80/10)/100= 33.53 M 335

EEGIE
EBAREEE(H1)18-#10 (FA2)X-#X
AREHFEF:(FE1)18-#10 (FH2)X-#X
1BHEIRE(1)40:10-10%18%

BRRETE:

F48HR:(90+80)*2*310/10000=10.54 M2

FERE R MR IORR:
%5:1i8:-(B26) 50*80/10000=0.40
2:2i8:-(G31) 50*80/10000=0.40
Ll _E/VET:0.80 M2

FERRE AR M A0 B
25:3i8:30.00*16/10000=0.0480
25:43%:40.00*16/10000=0.0640
LU E/NEF0.1120 M2

FENE E AR M0 B
IR (MK )-:S2=25%(310-15)/10000=0.74
T2 (KK )-:B26=25*(310-80)/10000=0.58
LLE/NVET1.31 M2

ﬁm%rﬁéﬁn 0.54-[##R3X $%10.80-[#E iR 33 $%]0.11-[#E 15 32 $£]1.31=8.32 M2

RCEHE:
90*80*310/1000000= 2.232 M3

At EHER:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=55.800 M (55.800 M*6.390/1000= 0.3566 T)
$MAR/INET = 0.5667 T
BAR/NEH(E) = 8.32 M2
iR /NET = 2.232 M3

PNA21-01-#£[&: B1 , #15F: C21, fIEFF5E: 54 [X9:-214,Y5:+169] R~F: 90 cm * 80 cm , 4 &: 310.0 cm

#10 FHh(E1HR-—REB): (310+0)*20/100 62.00
| EH+HEE (L) (il
[#E#=0))
#4 sMER- £ T i SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 43.65
g E THEEE= Int(((310-65)/2)/10.0)+1=13
TR K= 335.813/100=43.65 M
#4 SR -t 3 SV R EE (A )= (90+80)*2-8*4+2*13.89=335.8 30.22
g rh J 45 B 24= Int(((310-65)/2)/15.0)+1=9
rh R fE#E K= 335.8*9/100=30.22 M
#4 S\ R-BRE SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 20.15
g (Int(65/10))*335.8/100=20.15 M
BHEHR-KERE | XOKP)AEEF )= (90-2*[{RERE]4+2*[135F E4$7]13.9)
<7 B[ *2=219.6 ]
Y(EE)ERE(HBE)= (80-2*[{R#[B14+2*[135FE E£4]13.9)
*2=199.6
#4 B5- LT #4_F T iHE 8= Int(((310-65)/2)/10.0)+1=13 54.5
</ ETim#ER= (219.6+199.6)*13/100=54.5 M
#4 M- R IR #4rh R IHE B= Int(((310-65)/2)/15.0)+1=9 37.7
<2 bR iEHER = (219.6+199.6)*9/100=37.7 M
#4 BmH-RERE HARF [EHER=(219.6+199.6)*Int(65/10)/100= 25.15 M 25.1
BERTE

LB :(B1)20-#8 (fH2)X-#X
AR EH:($1)20-410 (FB2)X-#X
1R (1)40:10-8*20%

EARETE:
FHHR:(90+80)*2*310/10000=10.54 M2
HARE SRR

%:1i2:-(G17) 50*65/10000=0.33
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%258 :-(CB12) 40*60/10000=0.24
%:3:8:-(G17) 50*65/10000=0.33
LLE/VET:0.89 M2
FERRE IR IR IR
%:13i%:80.00%16/10000=0.1280
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:43%:40.00%16/10000=0.0640
LL_E/VEH:0.3040 M2
NS B RE AR IO
LLE/VET:0.00 M2
$§HJ§+.%§:E+:10.54-[H1%€ R $%]0.89-[#F il XX $%]0.30-[#F 1% %X $%]0.00=9.35 M2
RC:EtH&E:
90*80*310/1000000= 2.232 M3
-------------- R R 0] N —
st EHR:
#4=211.373 M (211.373 M*0.994/1000= 0.2101 T)
#10=62.000 M (62.000 M*6.390/1000= 0.3962 T)
$MAR/NET = 0.6063 T
EAR/MVET(E) = 9.35 M2
R /ET = 2.232 M3

PNA21-01-#&/8: B1 , 5% C40, iI& [F5%: 36 [X5:+233,Y8:+30] R~: 80 cm * 80 cm, 45 310.0 cm

#10 TH(EE- L EE (310+0.00)*16/100 49.60
[_ )3 B 00 88
TE(FEHE[EE=0])
#4 SV - £ T i SR EE ()= (80+80)*2-8*4+2*13.89=315.8 37.89
@ L+ THE = Int(((310-80)/2)/10.0)+1=12
+THEE K= 315.8%12/100=37.89 M
#4 HME - R SR E(H )= (80+80)*2-8*4+2*13.89=315.8 25.26
@ R EEE8= Int(((310-80)/2)/15.0)+1=8
bR iEfER= 315.8*8/100=25.26 M
#4 SMER-RE SR E(H )= (80+80)*2-8*4+2*13.89=315.8 25.26
@ (Int(80/10))*315.8/100=25.26 M
BHBEHR-KER,E XOKFE)ERE(HHAE)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B[ *2=199.6 )
Y(EE)E K E(H )= (80-2*[{R#B]14+2*[135EE E4$4]13.9)
*2=199.6
#4 Bip-LTim #4 £ T ixEI28= Int(((310-80)/2)/10.0)+1=12 479
</ L TFig#E K= (199.6+199.6)*12/100=47.9 M
#4 Bih-hRi% #4rh RIFEIEL= Int(((310-80)/2)/15.0)+1=8 31.9
<7 fh R iR = (199.6+199.6)*8/100=31.9 M
#4 B5-BREE HARZ [EHE R =(199.6+199.6)*Int(80/10)/100= 31.93 M 31.9
BERTE:

BT :GR)XHX ($2)X-#X

ABEEF:(FE1)16-#10 ($H2)X-#X

{BIEERE(1)#:10-T16%

EhRET S

F 4 HR:(80+80)*2*310/10000=9.92 M2

FERRE R IR IORR:
%:1i8:-(G43) 50*80/10000=0.40
%:258:-(G41) 50*80/10000=0.40
%:3i%:-(B29) 50*70/10000=0.35
LLE/NEH1.15 M2

FERRE AR R IIRR:
%:1i£:30.00*16/10000=0.0480
%:3i£:30.00*16/10000=0.0480
%:4i%:30.00*16/10000=0.0480
LL_E/INEH:0.1440 M2

AR E AR RO RR:
EHEIE 1 (FREE)-:G41=25%(310-80)/10000=0.58
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EHERE 2 (B E)-:G43=25%(310-80)/10000=0.58
LLE/NET:1.15 M2
$§Hls‘z+{ﬁ§:§+:9.92-[$ifr?€§¥§]1 A5-[#ERR 3]0 14-[#EH5 32 $]1.15=7.48 M2
RCEH&E:
80*80%310/1000000= 1.984 M3

At EHER:
#4=200.173 M (200.173 M*0.994/1000= 0.1990 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
$AER/INET = 05159 T
BAR/NVEH(E) = 7.48 M2
R /NET = 1.984 M3

PNA21-01-#&/8: B1 , #X5%: C40, fI& F5%: 37 [X5:+233,Y10:-140] R~: 80 cm * 80 cm , #£5: 310.0 cm

#10 TH(EE- L EE (310+0.00)*16/100 49.60
[_ FE): 5+ Q0RE 8 S8t
TE(HBHE[EE=0])
#4 SMER- L T i SR ()= (80+80)*2-8*4+2*13.89=315.8 37.89
@ T = Int(((310-80)/2)/10.0)+1=12
FTHER= 315.812/100=37.89 M
#4 SN - R S\ (5 T2)= (80+80)*2-8*4+2*13.89=315.8 25.26
@ rh 4 2k= Int(((310-80)/2)/15.0)+1=8
th R #E K= 315.8*8/100=25.26 M
#4 MR- R 5\ (5 2)= (80+80)*2-8*4+2*13.89=315.8 25.26
@ (Int(80/10))*315.8/100=25.26 M
BHEGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £]13.9)
<7 EM *2=199.6 )
Y(EE)AREHRHE)= (80-2[REB4+2 135 E$]13.9)
*2=199.6
#4 Bi-L T #4 £ T imE28= Int(((310-80)/2)/10.0)+1=12 479
</ F i R= (199.6+199.6)*12/100=47.9 M
#4 BE-hRim #4rh RIFBIEL= Int(((310-80)/2)/15.0)+1=8 319
<7 i K= (199.6+199.6)*8/100=31.9 M
#4 BH-BREE HARZ [EHE R =(199.6+199.6)*Int(80/10)/100= 31.93 M 31.9
BERHE:

EBEFETE(FE1)XH#X ($H2)X-#X
ABEEH:(FE1)16-#10 ($H2)X-#X
BIEERE(1)#:10-T16%
EhRET &
F#%4R:(80+80)*2*310/10000=9.92 M2
HRREEERR R
%:138:-(G41) 50*80/10000=0.40
%:2i8:-(G42) 50*80/10000=0.40
%:35%:-(B30) 50*70/10000=0.35
LLE/EE:1.15 M2
FERRE AR AR 0 BR:
%:132:30.00*16/10000=0.0480
%:35%2:30.00*16/10000=0.0480
%:43%:30.00*16/10000=0.0480
Ll E/NEE:0.1440 M2
B E AR AR OB
EREEE 1 (FRE)-:G41=25%(310-80)/10000=0.58
EREEE2(FIE)-:G42=25%(310-80)/10000=0.58
LLE/IEE:1.15 M2
$§H§%§+:9.92-[&@?3‘5?§]1 A5-[#ERR 3]0 14-[#EHE X $%]1.15=7.48 M2
RCEH&E:
80*80*310/1000000= 1.984 M3

M EER:
#4=200.173 M (200.173 M*0.994/1000= 0.1990 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)
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SRR /MET = 05159 T
HBAR/NET(E) = 7.48 M2
SRR /NET = 1.984 M3

PNA21-01-#£f&: B1 , #X3%: C40, fiEFF5%: 38 [X5:+233,Y11:+190] R~t: 80 cm * 80 cm , #&: 310.0 cm

#10 EH(EE-LEE (310+0.00)*16/100 49.60
[_ ¥y 5+ 00 R B
TE(fEHE[BE=0])
#4 SN RS- £ T i SR EE(F )= (80+80)*2-8*4+2%13.89=315.8 37.89
g £ T HEE2= Int(((310-80)/2)/10.0)+1=12
Lt TFiE#EE= 315.8%12/100=37.89 M
#4 S-SR SR EE(H )= (80+80)*2-8*4+2*13.89=315.8 25.26
g rh LG 28= Int(((310-80)/2)/15.0)+1=8
L8 K= 315.8*8/100=25.26 M
#4 SNER-BE SR E(H )= (80+80)*2-8*4+2+13.89=315.8 25.26
g (Int(80/10))*315.8/100=25.26 M
EMEBERR-KFER,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(EE)REKEE(HARH)= (80-2*[{r#E[E]14+2*[135E & £1]13.9)
*2=199.6
#4 B TiE #4 £ T iR S= Int(((310-80)/2)/10.0)+1=12 47.9
< ETFigiEaR= (199.6+199.6)*12/100=47.9 M
#4 B5-rh ki #4 /R Bi= Int(((310-80)/2)/15.0)+1=8 31.9
<7 e R = (199.6+199.6)*8/100=31.9 M
#4 RBi5-REE #A R E 1R =(199.6+199.6)*Int(80/10)/100= 31.93 M 31.9
AEBE

TR E S (R1)XHX (#82)X#X

REHEEE(11)16-#10 (HI2)X-HX

BRI E(1)ME:10-T6X

EhRETE:

F#%hR:(80+80)*2*310/10000=9.92 M2

AR E AR RO RR:
%:158:-(G42) 50*80/10000=0.40
5:2i%:-(G43) 50*80/10000=0.40
%:3%:-(B30) 50*70/10000=0.35
LA E/NEF:1.15 M2

FERRE B AR R A0 B
:172:30.00*16/10000=0.0480
%:372:30.00*16/10000=0.0480
%:45%:30.00*16/10000=0.0480
LA E/INET:0.1440 M2

NS E AR R A0 B

E RS 1 (R E)-:G43=25%(310-80)/10000=0.58
EiEiE2(BRE)-:G42=25%(310-80)/10000=0.58

LLE/NVET:1.15 M2

AR AEET:9.92-[AE R 3THE1 . 15-[#E MR 3T $5]0. 14-[#F HE 32 $£]1.15=7.48 M2

RCEHE:
80*80*310/1000000= 1.984 M3

Mt HAER:

#4=200.173 M (200.173 M*0.994/1000= 0.1990 T)
#10=49.600 M (49.600 M*6.390/1000= 0.3169 T)

$MER/INET = 05159 T
BAR/INET () = 7.48 M2
R /NET = 1.984 M3

PNA21-01-#£[&: B1, ¥ X8%: C25, fIERF5E: 21 [X2:-232,Y15:-85] R~t: 125 cm * 70 cm , 4£5: 310.0 cm
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#8 ERF(FE14-—HRE): (310+0)*22/100 68.20
| T H+EE(Lg)(HEHE
[F&#=0])
#4 SMER-L T i SR E(H )= (125+70)*2-8*4+2*13.89=385.8 30.86
g T = Int(((310-160)/2)/10.0)+1=8
T4 K= 385.8*8/100=30.86 M
#4 MR- R SRR B ()= (125+70)*2-8*4+2*13.89=385.8 23.15
g rh Je 4B 25= Int(((310-160)/2)/15.0)+1=6
R iEfE R = 385.86/100=23.15 M
#4 SN RR-R SRR B ()= (125+70)*2-8*4+2*13.89=385.8 61.72
g (Int(160/10))*385.8/100=61.72 M
BHEFER-KTERE | XOKFE)AEEFGRE)= (125-2*[{RERB]4+2*[135F &)
</ BER 13.9)*2=289.6 ]
Y(EE)ERE A= (70-2* R #B14+2* 135 E4$5]13.9)
*4=359.1
#4 Bi5-ETim #4_ TR 8= Int(((310-160)/2)/10.0)+1=8 51.9
</ E T R= (289.6+359.1)*8/100=51.9 M
#4 BE-th k% #4rh IR EL= Int(((310-160)/2)/15.0)+1=6 38.9
</ fh R iR = (289.6+359.1)*6/100=38.9 M
#4 B5-BRE HARZ [E R R =(289.6+359.1)*Int(160/10)/100= 103.79 M 103.8
BESTE:
EREREH:(R1)22-#8 (FH2)X-#X
ABHEIH:(HR1)22-#8 (FH2)X-#X
AR (1)1:8-8"22%
BhRETE:

F 1 hr:(125+70)*2*310/10000=12.09 M2

HRE SRR
%:158:-(G40) 6

0*120/10000=0.72

#:25%:-(B21) 80*160/10000=1.28
LLE/NVET:2.00 M2

MR AR MR O PR

%:1i%£:10.00*16/10000=0.0160
%5:352:70.00*16/10000=0.1120
%:4i%:10.00*16/10000=0.0160
LLENET:0.1440 M2

RS E AR MR O PR

I (E B orEZE):=15%(108.5-0)/10000=0.16
2 (B orBZ):=20%(160-0)/10000=0.32
I3 (KK )--G40=25*(310-120)/10000=0.48
Ll E/NEH0.96 M2
R AEET:12.09-[4F R 3 $£]2.00-[4E hiR 3 $£10. 14-[4E 15 3 $]0.96=8.99 M2

RCEHE:

125*70*310/1000000= 2.713 M3

P EER:

#4=310.340 M (310.340 M*0.994/1000= 0.3085 T)
#8=68.200 M (68.200 M*3.980/1000= 0.2714 T)

$ARR/INET = 05799 T
HBAR/NET(E) = 8.99 M2
SR NET = 2.713 M3
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